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Lecture Sheet Straight Objective Type Questions

1. One mole of molecules of oxygen represents

A.6.02 x 10?® molecules of oxygen
B. 8 gms of oxygen
C.16 g of Oy

D.11.2 L of Oy at STP

Answer: A



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SSz1cir3p5Er
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2. The ratio between the number of molecules in equal masses of

nitrogen and oxygen is

AT:8

B.1:9

C.9:1

D.8:7

Answer: D

° Watch Video Solution

3.The atomic masses of two elements A and B are 20 and 40 respectively.

If x gm of A contains Y atoms, how many atoms are present in 2x gm of B

A2y


https://dl.doubtnut.com/l/_SSz1cir3p5Er
https://dl.doubtnut.com/l/_HmEZUTVI53Rj
https://dl.doubtnut.com/l/_nWGOLj3pXOne

B.y/2

Cy

Answer: C

° Watch Video Solution

4.Total number of sulphate ions present in 3.92 g of chromic sulphate is

(Cr=52,5=32, 0=16)

A 1.8 x 10?2

B.1.8 x 10%

C.1.2 x 10%

D.6 x 10%

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nWGOLj3pXOne
https://dl.doubtnut.com/l/_Vl9DFgCJG7u7

5. Analysis of chlorophyll shows that it contains 2.68% Mg. Number of
magnesium atoms present in 2.4 g of chlorophyll is

A.2.68 x 6 x 10%!

B.2.68 x 6 x 10

C.2.68 x 6 x 10%°

D.2.68 x 6 x 10% /24

Answer: C

o Watch Video Solution

6. The mass of water (in grams) in one mole of crystalline hypo is

A. 18

B. 90

C.158


https://dl.doubtnut.com/l/_Vl9DFgCJG7u7
https://dl.doubtnut.com/l/_hVNvBswSPcYC
https://dl.doubtnut.com/l/_MeKQBq91HulB

D. 248

Answer: B

° Watch Video Solution

7.The empricial formula of a compound is CH,0. Its molecular weight is

120. The molecular formula of the compound is

A C3HsO4

B. C,HO,

C.CyH40O,

D. C6H1206

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MeKQBq91HulB
https://dl.doubtnut.com/l/_1p0mZAoI3IC2

8.0.262 g of a substance gave, on combustion 0.361 g of CO, and 0147 g

of HyO. What is the empirical formula of the substance

A.CH,0

B. C3 HgO

C. CgH(;Og

D. CQH602

Answer: A

o Watch Video Solution

9. 0.66 g of a compound gave 112 ml of nitrogen at STP in the Dumas

method. The percentage of Nitrogen in the compound is

A. 25

B. 415

C.424


https://dl.doubtnut.com/l/_le3RwMyTpyED
https://dl.doubtnut.com/l/_Gnxas6tBNN0L

D. 21.2

Answer: D

° Watch Video Solution

10. A diabasic acid containing C,H and O was found to contain C=26.7%

and H=2.2%. The vapour density of its dimethyl ester was found to bc 73.

The molecular formula of the acid is

A.CH,0,

B. CoH,04

C.C3H;30,

D.CyH,0Oy4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Gnxas6tBNN0L
https://dl.doubtnut.com/l/_DpCh35ERTl6Y
https://dl.doubtnut.com/l/_dQWL9lpOxjUp

1. A peroxidase enzyme contains 2% selenium(Se=80). The minimum

molecular weight of the enzyme is

A.1000

B. 2000

C. 4000

D. 800

Answer: C

o Watch Video Solution

12. Carbon and oxygen combine to form two oxides, carbon monoxide and
carbond dioxide in which the ratioi of the weights of carbon and oxygen
is respectively 12:16 and 12:32. these figures illustrate the

A. Law of multiple proportions

B. Law of reciprical proportions


https://dl.doubtnut.com/l/_dQWL9lpOxjUp
https://dl.doubtnut.com/l/_nld0mACLc9cd

C. Law of conservation of mass

D. Law of constant proportions

Answer: A

o Watch Video Solution

13. A chemical equation is always balanced with respect which one of the

following

(i)Number of atoms (ii) Number of molecules

(iii) Number of moles (iv) Mass

A.Only l'is correct

B. Only iii correct

C.Only iv correct

D.Both | and iv are correct

Answer: D



https://dl.doubtnut.com/l/_nld0mACLc9cd
https://dl.doubtnut.com/l/_WYrhiIeiqBpp
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14. Which of the following has highest mass?

A. One gram atom of Iron

B. 5 moles of IV,

C. 10** carbon atoms

D. 448 lit of He at STP

Answer: B

o Watch Video Solution

15. Which contains more number of molecules?

A. 1 mole of carbon dioxide

B. 4 g of hydrogen

C. 33.6 litres of oxygen at StP


https://dl.doubtnut.com/l/_WYrhiIeiqBpp
https://dl.doubtnut.com/l/_iDoWQxCU1bsO
https://dl.doubtnut.com/l/_l4Bvq4baSHYm

D. 6g of helium

Answer: B

° Watch Video Solution

16. Which of the following gases has the highest density under standard

conditions?

A.CO

B. N,O

C. C3H8

D. SO,

Answer: B

° Watch Video Solution

Lecture Sheet More Than One Correct Answer Type Questions



https://dl.doubtnut.com/l/_l4Bvq4baSHYm
https://dl.doubtnut.com/l/_3Yj5s2inYbAe

1. Which of the following contains Avagadro number of atoms?

A. one mole of Helium gas

B. 224 lits of CO, at STP

C. 11.2 lits of Hydrogen gas at STP

D. 3.2 gms of methane

Answer: A::C::D

o Watch Video Solution

2. Equal masses of oxygen and ozone have equal

A. number of grammolecules

B. number of gramafoms

C.volumes at STP

D. number of electrons


https://dl.doubtnut.com/l/_J0UpDBnSf19e
https://dl.doubtnut.com/l/_9jhm5OpTFTH5

Answer: B::D

° Watch Video Solution

3. 0.5 mole of P,10;, contains

A. 80 gm oxygen

B. 2 gram atoms phosphorous

C. 5 gram atoms oxygen

D. 10 gram atoms oxygen

Answer: A::B::C

° Watch Video Solution

Lecture Sheet Linked Comprehension Type Questions



https://dl.doubtnut.com/l/_9jhm5OpTFTH5
https://dl.doubtnut.com/l/_jHGOb9nKBbi6

1. A mole of any substance contains 6.023 x 10% particles. The particles
may be atom, molecule ions, electron, proton or neutron. One mole of
atom is equal to 1 gm -atom which is equal to atomic weight of atom. 1
gm molecule of any gas is 1 mole of gas whose volume is 22.4 litre at N.T.P.
The volume of 3.011 x 10?® atoms of hydrogen gas at N.T.P. s

A. 112 litres

B. 2.24 litres

C. 2.8 litres

D. 5.6 litres

Answer: D

° Watch Video Solution

2. A mole of any substance contains 6.023 x 10% particles. The particles
may be atom, molecule ions, electron, proton or neutron. One mole of

atom is equal to 1 gm -atom which is equal to atomic weight of atom. 1


https://dl.doubtnut.com/l/_hcCEVJmjf5ej
https://dl.doubtnut.com/l/_PVaFmHOlzqOq

gm molecule of any gas is 1 mole of gas whose volume is 22.4 litre at N.T.P.
Mass of 1atom of an element X is 6.64 x 10~ 2gm. Molecular weight of
X2 is

A. 80

B. 60

C.40

D. 20

Answer: A

o Watch Video Solution

3.4.4 gms of a hydrocarbon on complete combustion produced 13.2 gms
of CO4 and 7.2 gms of H50.
What is the hydrocarbon?

A. Propane

B. Propene


https://dl.doubtnut.com/l/_PVaFmHOlzqOq
https://dl.doubtnut.com/l/_0vEJ5CZXiJhj

C. Butane

D. Butene

Answer: A

° Watch Video Solution

4.4.4 gms of a hydrocarbon on complete combustion produced 13.2 gms

of CO4 and 7.2 gms of H5O.

How many moles of oxygen is consumed per mole of hydrocarbon in the

combustion?

A3
B.5
C.4

D.6

Answer: B



https://dl.doubtnut.com/l/_0vEJ5CZXiJhj
https://dl.doubtnut.com/l/_5KsCOHuJXhoC
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Lecture Sheet Matrix Matching Type Questions

1. Match the following columns
Column-1 Column-11
A) NH, P} EF = MF
B) N,H, Q) MF = (EF),
CINH R} Maximum percentage of mirogen by mass
Dy CN, §) Least percentage of nitrogen by muss

° Watch Video Solution

2. Match the following columns
Column-1 Column-11
A) 0.1 mole Benzene P10} moles "1 bond
B) 0.1 mole glucose Q) 0.6 gram aloms of carbon
C} 0.6 mole CO, R) 0.3 gram molecules of O,
D) 0.4 mole ethylene 5p 1.2 gram atoms of hydiogen

° Watch Video Solution

Lecture Sheet Integer Type Questions



https://dl.doubtnut.com/l/_5KsCOHuJXhoC
https://dl.doubtnut.com/l/_od9fUBz7S2t6
https://dl.doubtnut.com/l/_nhBmWWIb2V9l
https://dl.doubtnut.com/l/_lR6mHZOiAyuz

1. An enzyme contains 2% of sulphur. The molecular weight of the Enzyme
y P g y

is 6400. How many sulphur atoms are present in that enzyme molecule?

° Watch Video Solution

2. The weight of a gaseous mixture containing 12.044 x 10 atoms of He

and 3.011 x 10?® molecules of hydrogenis g.

° Watch Video Solution

3. The weight of methane which occupies the same volume at STP as 7.5

gmof ethane is g A compound contains 40% carbon 6.6%

hydrogen and the rest oxygen. If 100 ml of its decimolar solution contains

1.8 gms of its how many emperical units are present in its molecule?

° Watch Video Solution



https://dl.doubtnut.com/l/_lR6mHZOiAyuz
https://dl.doubtnut.com/l/_HDnk5vf30jkL
https://dl.doubtnut.com/l/_c33YYZ8JVN5t

4. A compound contains 40% carbon 6.6% hydrogen and the rest oxygen.
If 100 ml of its decimolar solution contains 1.8 gms of it, how many

emperical units are present in its molecule?

° Watch Video Solution

5. Air contains 20% O, by volume. An alkane (C,H,) requires 10 tims its

volume of air for complete combustion. What is y/x?

° Watch Video Solution

6.4.4 gms of a hydrocarbon on complete combustion produced 13.2 gms
of CO, and 7.2 gms of H50.
How many moles of oxygen is consumed per mole of hydrocarbon in the

combustion?

° Watch Video Solution



https://dl.doubtnut.com/l/_QKckCHhnXpPB
https://dl.doubtnut.com/l/_3LXuVJGlhdoo
https://dl.doubtnut.com/l/_qEluvTYQOvTP

Lecture Sheet Exercise li Straight Objective Type Questions

1. The oxidation number of nitrogen in HNj is

A +1/3
B.+3

c.—1/3

Answer: C

° Watch Video Solution

2. Oxidation state of Fe in K, [Fe(CN)]

A. Oxidation number of and valency of oxygen in OF; are
B.+1,2

C.+2,2


https://dl.doubtnut.com/l/_PMsS22IpBxe6
https://dl.doubtnut.com/l/_dAHBlZ5ypEHN

D.+1,1

Answer: C

° Watch Video Solution

3. Oxidation number and valency of oxygen in OF are

A+1,2

B.+2,2

C.+1,1

D.+2,1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dAHBlZ5ypEHN
https://dl.doubtnut.com/l/_v1Mn6eLVzKrQ

4. In the conversion of K,Cry0; to K5CrQO4 the oxidation number of
the following changes

A. K

B.Cr

C. Oxygen

D. None

Answer: D

o Watch Video Solution

| .ist-1 I ist-2

A) + 3 Oxidation siate 1} Nitrogen

B) + | Oxidation slate 21 Nitrous oxide

) 0 Owadation state 3 Nurate on

Dy + 5 Oxidation state 4) Hydroxylamine
%) Nitnie won

5.

The correct match is

A B C D

A'l 4 3 2



https://dl.doubtnut.com/l/_pXF3zZXo5jLL
https://dl.doubtnut.com/l/_ztylqOgZ7Fwd

5 2 4 3
c A B C D
4 5 3 1
5 A B C D
5 2 1 3
Answer: D

° Watch Video Solution

6. The oxidation state of phosphorus in Ba(HyPO,), is

A +3
B. +2

C.+1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ztylqOgZ7Fwd
https://dl.doubtnut.com/l/_c9pN3JXSGdzq
https://dl.doubtnut.com/l/_c3kHF3M8R8sW

7.1n bleaching powder oxidation states of Cl are

A—1, +2
B.—2, +1
C—-1, +1
D.—2, +1
Answer: C

o Watch Video Solution

8. (A): Oxidation state of carbon in CgH150g is zero.

(R) : Oxidation state of carbon in all organic compounds is zero.

A.Both (A) and (R) are true and (R) are true and (R) is the correct

explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A).


https://dl.doubtnut.com/l/_c3kHF3M8R8sW
https://dl.doubtnut.com/l/_VRytZhowHBvF

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

° Watch Video Solution

9.Iron has the lowest oxidation state in

A. FeSO4
B. K4[Fe(CN)g]
C.Fe(CO),

D. FeO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VRytZhowHBvF
https://dl.doubtnut.com/l/_jlnto1yJv2xp

10. The oxidation number of Cr is CrOs is

A +10

B.+6

C.+4

D.+5

Answer: B

° Watch Video Solution

1. In the reaction
P, +30H~ + 3H,0 — 3H,POy — 3H,PO, + PHj; phosphorus is
undergoing.

A. oxidation

B. reduction

C. disproportionation


https://dl.doubtnut.com/l/_aUPKV4El0ZYl
https://dl.doubtnut.com/l/_24JYpObGJ9LQ

D. hydrolysis

Answer: C

° Watch Video Solution

12. Which of the following is not a redox reaction?

A.2Ba0O + Oy — 2Ba0,

B. Ba02 + H2SO4 — BCLSO4 + H202

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_24JYpObGJ9LQ
https://dl.doubtnut.com/l/_RZz63cgRXhLs

13. Which one of the following is not prepared from halide by chemical

oxidation process

A F,

B.Cl,

C. BT2

D. I

Answer: A

o Watch Video Solution

14. Among the following ion the
disproportionation

A.ClO~

B.ClO,

C.ClO;

one that

cannot

undergo


https://dl.doubtnut.com/l/_jGehkbNb9HL6
https://dl.doubtnut.com/l/_I9VSuH8Hm3Th

D.CIO;

Answer: D

° Watch Video Solution

15.In C' + H,O — CO + H,, H,O acts as

A. Oxidising agent
B. Reducing agent
C.Bothaandb

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_I9VSuH8Hm3Th
https://dl.doubtnut.com/l/_5xyFLc834gi0

16. Which one of the following generally gets displaced by more electro

positive metals in nonmetal displacement reactions.

A H,

B. N,

C.F,

D.Cl,

Answer: A

° Watch Video Solution

Lecture Sheet Exercise li More Than One Correct Answer Type Questions

1. The different oxdisation state (s) exhibited by oxygen is (are)


https://dl.doubtnut.com/l/_5bxCC047vzmW
https://dl.doubtnut.com/l/_Nl0fbUUOR8d0

Answer: A::B::C::D

° Watch Video Solution

2. Which of the following have been arranged in order of decreasing
oxidation number of sulphur?

A Hy5,07 > Na3S;06 > NayS,03 > Sy

B.SO’" > SO}~ > SO}~ > HSO,

C.H,SO5 > H,S505 > SCl, > HyS

D. H,S0, > SOy > HyS > H55,04

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Nl0fbUUOR8d0
https://dl.doubtnut.com/l/_LOG1yUwxoxQH
https://dl.doubtnut.com/l/_WCUrs6MXirEU

3. Which molecules represented by the bold atoms show their highest

oxidation state?

A. H,S, 05

B. P4O1o

Answer: A::B::D

o Watch Video Solution

4, Select the correct statements:

1

A. Oxidation number of oxygen in O, is + 3
i P

B. Oxidation number of oxygen is O, is — 3

C. Oxidation number of Cr in K3CrQOyg is +5



https://dl.doubtnut.com/l/_WCUrs6MXirEU
https://dl.doubtnut.com/l/_0IOXwLiQAnBt

D. Average oxidation number of Br in tribromooctaoxide (Br3Osg) is

18

3

Answer: A::B::C

° Watch Video Solution

Lecture Sheet Exercise li Linked Comprehension Type Questions

1. The oxidation number of an element in a compound decides its nature

to acts as oxidant or reductant. Oxidation number is defined and the
residual charge which an atom has or appears to have in a molecule
whenal other atoms are removed from the molecule as ions. Oxidation
number is frequently used interchangebly with oxidation state. The stock
notations of oxidation number are based on the periodic property-
electronegativity. An atom in a molecule can be assigned positive,

negative or zero oxidation number by considering its environment. In few


https://dl.doubtnut.com/l/_0IOXwLiQAnBt
https://dl.doubtnut.com/l/_PIj4p8pZwXvc

cases, oxidation number can evenn be fractional.

Oxidation number of oxygen in K;O, K;05, KOy, KO3 are in the order:

A KO3 < KO3 < K309 < K50

B. KOy < KO3 < K70 < K50,

C.K,0 < K;,05 < KOy < KOs

D. K03 < K70 < KOy < K50,

Answer: C

° Watch Video Solution

2. The oxidation number of an element in a compound decides its nature
to acts as oxidant or reductant. Oxidation number is defined and the
residual charge which an atom has or appears to have in a molecule
whenal other atoms are removed from the molecule as ions. Oxidation
number is frequently used interchangebly with oxidation state. The stock
notations of oxidation number are based on the periodic property-

electronegativity. An atom in a molecule can be assigned positive,


https://dl.doubtnut.com/l/_PIj4p8pZwXvc
https://dl.doubtnut.com/l/_0VTNXNz2cnvp

negative or zero oxidation number by considering its environment. In few
cases, oxidation number can evenn be fractional.
Oxidation number of Y in Y BayCuy0O7 is +3, then oxidation number of
Cu is:

A+7/3

B.+5/3

C.+2

D.+1

Answer: A

o Watch Video Solution

3. In the chemical change aN,H, + bBrO; — alN; + bBr~ + 6H,0,
answer the following questions:

The element oxidised and reduced in the reaction are respectively:

A. N2H4, B'I"O3_


https://dl.doubtnut.com/l/_0VTNXNz2cnvp
https://dl.doubtnut.com/l/_r78BA599KPdy

B.N, Br
C.H, Br

D. B’I"O?)_, N2H4

Answer: B

° Watch Video Solution

4. In the chemical change aN,Hy + bBrO; — aNy + bBr~ + 6H,0,
answer the following questions:

Thenumber of electrons lost or gained during the redox change are:

A.8

B.10

D.6

Answer: C

[ - 1


https://dl.doubtnut.com/l/_r78BA599KPdy
https://dl.doubtnut.com/l/_lSGUQCVvzrrk

| @J Watch Video Solution

5. In the chemical change aN,H, + bBrO; — alN; + bBr~ + 6H,0,
answer the following questions:
The species acting as oxidant and reductant respectively are:

A.BrO; , NyH,

B. NH,, BrOg

C. Ny, BrOs

D.Br~ y N2H4

Answer: A

° Watch Video Solution

Lecture Sheet Exercise li Matrix Matching Type Questions



https://dl.doubtnut.com/l/_lSGUQCVvzrrk
https://dl.doubtnut.com/l/_elytYY3O1Vnd

1. Match the following columns

Column-1 Column-11
A) ARNO, + NaCl = AgCl + NaNO, P) Mctathesis
By 2KC1 + Br, — 2kBr + €1, ) Reaction possible but not redox reaction
€ IHCHO —S L HeO0N - CH 01 R) Disproportionation
D)y AgSO, + Ag — Ag,50, 5) Comproportionation
Ey BaCl, + K, CrO) — BaCrO, + 2KC/ T) Reacuon pot possible

o Watch Video Solution

2. Match the following columns
Element The oxidation number shown
by the element in its compounds

A Nitrogen Py -1
B} Chlorine Q) +8
C) Onygen R} +7
D) Fluerine MER]

T) =1
o Watch Video Solution

Lecture Sheet Exercise li Integer Type Questions



https://dl.doubtnut.com/l/_IB7sEHuilHR7
https://dl.doubtnut.com/l/_SHIJVEcaIbsc

1. The oxidation number of iron in brown ring complexes +x. What is value

of x.

° Watch Video Solution

2. The oxidation number of sulphur in caro's acid is +x. What is value of x.

° Watch Video Solution

3.In first transition series elements the highest oxidation number shown

is +x. What is the value of x.

° Watch Video Solution

4. The oxidation number of hydrogen (per atom) in hydrolith as -x.What is

value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_zPhJoLpULKCX
https://dl.doubtnut.com/l/_JSbWbuRD5Kki
https://dl.doubtnut.com/l/_fpJXwGyWN6Jd
https://dl.doubtnut.com/l/_xQqdFu3i1h2a

5. In how may of the following compounds an elements has fractional
oxidation number

KO2, N3H, 02F2, NCLN3, NZ(CO)4, Na25406, N2H6+ +, KI3

° Watch Video Solution

6. When the redox reaction Zn + NO; — Zn* " + NH4+ is balanced

by ion electron method in acid medium what is correct coefficinet of zinc.

° Watch Video Solution

7.When the redox reaction
Crs0; = + Fe™ " +C0, = Cr™"" + Fe™ ™" 4+ CO;
balanced by ion electron method in acid medium what is correct co-

efficient of Cry O, —

° Watch Video Solution



https://dl.doubtnut.com/l/_xQqdFu3i1h2a
https://dl.doubtnut.com/l/_Oj6qMmMCL673
https://dl.doubtnut.com/l/_KYZksbvYgZl5
https://dl.doubtnut.com/l/_aQx5ttLY3Jo3

8. When the redox reaction
SnO, =~ + Bi(OH); — SnO; ~ + Bi
is balanced by ion electron method in basic medium what is correct

coefficient of SnO, ~

° Watch Video Solution

Lecture Sheet Exercise lii Straight Objective Type Questions

1.2.76 g of silver carbonate on strong ignition leaves a residue weighing

A.248¢g
B.216 g
C.232¢g

D.284g

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_xRiKhMxRNXJQ
https://dl.doubtnut.com/l/_sjnQ2gYoUptU

2.0.01 mole of iodoform (CH ;) reacts with Ag powder to produce a gas

whose volume at NTP is

A. 112 ml
B.336 ml

C. None

Answer: B

o Watch Video Solution

3. Air contains 20% by volume of oxygen. The volume of air required for

the compoete combustion of 1L of methane under the same conditions is

A 2L

B. 4L


https://dl.doubtnut.com/l/_sjnQ2gYoUptU
https://dl.doubtnut.com/l/_Fak2xxWcTCQ3
https://dl.doubtnut.com/l/_Eu5nEi2Ti0AF

C.10L

D.0A4L

Answer: C

° Watch Video Solution

4.When a sample of baking is strongly ignited in a crucible, it suffered a

loss in weight of 3.1 g. The mass of baking soda is

A.168 g

B.84g

Cneg

D.42g

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Eu5nEi2Ti0AF
https://dl.doubtnut.com/l/_p3Les6CM3BuT
https://dl.doubtnut.com/l/_bZv6UX6PNIbm

5. X litre of carbon monoxide is present at mSTP. It is completely oxidised

toCO, . Formed is 11.207 |. What is the vlue of X in litres?

A. 22414

B. 11.207

C.5.6035

D.44.828

Answer: B

o Watch Video Solution

6. The number of moles of Kl required to produce 0.4 mole Ky, Hgl, is

Al

B.3

C.6

D.1.6


https://dl.doubtnut.com/l/_bZv6UX6PNIbm
https://dl.doubtnut.com/l/_JIJe4exGEUBG

Answer: D

° Watch Video Solution

7. When 20 ml of methane and 20 ml of oxygen are exploded together
and the reaction mixture is cooled to laboratory temperature. The
resulting volume of the mixture is

A. 40 ml

B.20 ml

C.30ml

D. 10ml

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JIJe4exGEUBG
https://dl.doubtnut.com/l/_eTKJMnisXk6P

8. Acetylene can be prepared from calcium carbonate by a series of
reactions. The mass of 80% calcium carbonate required to prepare 2
moles of acetylene is

A.200g

B. 160g

C.250g

D.320 g

Answer: C

o Watch Video Solution

9. Sodium carbonate of 92% purity is used in the reation
NayCO3 + CaCly — CaCO3 4+ 2NaCl. The number of grams of

NayCOj required to yield 1 gm of CaCO3

A. 8.5g


https://dl.doubtnut.com/l/_YHv3wT8hmTJu
https://dl.doubtnut.com/l/_MXG4xwNJzBko

B. 10.5¢g

C.11.52¢g

D. 1.152g

Answer: D

° Watch Video Solution

10. 4g of mixture of NayCO3 and NaHCOj3 on heating liberates 448 ml

of CO, at STP. The percentage of Na;COj in the mixture is

A. 84

B.16

C.54

D. 80

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MXG4xwNJzBko
https://dl.doubtnut.com/l/_BnC7zMb8nktY

11.25.5 g of H,O, solution on decomposition gave 1.68 L of O, at STP. The

percentage strength by weight of the solution is

A.30

B.10

C.20

D. 25

Answer: C

o Watch Video Solution

12. How much Ca(NOj3), in mg must be present in 50 ml of a solution

with 2.35 ppm of Ca?

A. 01175

B.770.8


https://dl.doubtnut.com/l/_BnC7zMb8nktY
https://dl.doubtnut.com/l/_l0mNgselSOd6
https://dl.doubtnut.com/l/_iKRDCPvFT1Zx

C.47

D.048

Answer: D

° Watch Video Solution

13. 500 ml of a 0.1 N solution of AgNO3 added to 500 mlof 0.1 N solution

of KCI. The concentration of nitrate ion in the resulting mixture is

A.0.05N

B.OIN

C.02N

D. reduced to zero

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iKRDCPvFT1Zx
https://dl.doubtnut.com/l/_GxPtBFGkc39H
https://dl.doubtnut.com/l/_tv122rk0MHkB

14. 0.84 g of a acid (mol wt. 150) was dissolved in water and the volume
was made up to 100 ml. 25 ml of this solution required 28 ml of (N/10)
NaOH solution for neutralisation. The equivalent weight and basicity of
the acid

A.75,2

B. 150,1

C.754

D. 150,2

Answer: A

o Watch Video Solution

15.0.70 g of a sample of NayCOj3. x H,O were dissolved in water and the
volume was made to 100 ml. 20 ml of this solution required 19.8 ml of

(N/10) HCl for complete neutralisation. The value of x is

A2


https://dl.doubtnut.com/l/_tv122rk0MHkB
https://dl.doubtnut.com/l/_5iSimAdEcazM

B.1

C.4

D.10

Answer: A

° Watch Video Solution

Lecture Sheet Exercise lii More Than One Correct Answer Type Questions

1. Combustion of 2.24 its ethane at STP requires

A.7.84 Its of Oy
B. 0.35 moles of Oy
C. 1.2 gms of Oy

D.5.6 Its of O (2) at STP

Answer: A::B::C



https://dl.doubtnut.com/l/_5iSimAdEcazM
https://dl.doubtnut.com/l/_3fEapp7vWXyr

| ° Watch Video Solution

2. One mole Barium chloride and one mole Sodium phosphate are mixed
in aqueous medium.

A. BaCl, acts as limiting reagent

B. Na3 POy acts as limiting reagent

C. Half mole of Ba3(POy), is formed

D. 0.33 mole of Ba3(POy,), is formed

Answer: A::D

° Watch Video Solution

3.10mlN; is reacted with 20 ml H, to form N Hjs. The correct statements

is /are

A. 133 ml NHj is formed


https://dl.doubtnut.com/l/_3fEapp7vWXyr
https://dl.doubtnut.com/l/_T2WxTIjokQSX
https://dl.doubtnut.com/l/_lGvvYV3rptNx

B.20 ml NHj is formed

C.3.4 ml N; is left after the completion of the reaction

D. 16.7 ml N Hj3 of mixture is left the completion of the reaction.

Answer: A::C::D

° Watch Video Solution

4.1 mole Ba(OH), will exactly neutralize

A. 0.5 mole HCI
B. 1 mole of HySO,
C.1mo < ofH (3)PO (3)

D. 3 mole H3 PO,

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_lGvvYV3rptNx
https://dl.doubtnut.com/l/_ZrUrzlcxeoWV

Lecture Sheet Exercise lii Linked Comprehension Type Questions

1. 10 moles of SO5 and 4 moles of Oy are mixed in a closed vessel of
volume 2 litres. The mixture is heated in the presence of Pt catalyst.

Following reaction takes place:
250,(g) + O1(g) — 2505(g)
Assuming the reaction proceeds to completion.
Select the correct statement.
A. SO, is the limiting reagent
B. O, is the limiting reagent

C.Both SO, and O, are limiting

D. Cannot be predicted

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DkJYZDOhZZni

2. 10 moles of SO, and 4 moles of O, are mixed in a closed vessel of
volume 2 litres. The mixture is heated in the presence of Pt catalyst.
Following reaction takes place:
250,(g) + O1(g) — 2505(g)
Number of moles of SO3; formed in the reaction will be

A.10

B.4

C.8

D.14

Answer: C

o Watch Video Solution

3. 10 moles of SO, and 4 moles of Oy are mixed in a closed vessel of
volume 2 litres. The mixture is heated in the presence of Pt catalyst.

Following reaction takes place:


https://dl.doubtnut.com/l/_nClIpyFKgYf7
https://dl.doubtnut.com/l/_nw58j02MzEAC

250,(g) + O1(g) — 250s(9)

Number of moles of excess reactant remaining
A4
B.2
C.6

D.8

Answer: B

o Watch Video Solution

4.0Oleum is mixture of H,50, and SOj; i.e. HyS207 which is obtained by
passing SOj is solution of HyS50y. In order to dissolve SO3 in oleum,
dilution of oleum is done by water in which oleum is converted into pure
H,S50 as shown below:

H,50,4 + SO3 + Hy,O — 2H5,504 (pure)

When 100 gm oleum is diluted with water then total mass of diluted

oleum is known as percentage labelling in oleum.


https://dl.doubtnut.com/l/_nw58j02MzEAC
https://dl.doubtnut.com/l/_3d5rSamDlbOO

For example: 109 % H,SOy labelling of oleum sample means that 109 gm
pure Hy SO, is obtained on diluting 100 gm oleum with 9 gm H,O which
dissolves al free SO5 in oleum.
If the number of moles of free SO3, H,50,, and H,O be x, y and z
respectively in 118%H,S0, labelled oleum, the value of (z + y + 2) is

A 22

B.3.2

C.34

D.4.2

Answer: A

o Watch Video Solution

5.0leum is mixture of Hy,S0,4 and SOj3 i.e. Hy S50 which is obtained by
passing SOj is solution of HyS50y. In order to dissolve SO3 in oleum,

dilution of oleum is done by water in which oleum is converted into pure

H,S50 as shown below:


https://dl.doubtnut.com/l/_3d5rSamDlbOO
https://dl.doubtnut.com/l/_6ilDtCYXR2L2

H,S04 + SO5 + H,O — 2H,50, (pure)

When 100 gm oleum is diluted with water then total mass of diluted
oleum is known as percentage labelling in oleum.

For example: 109 % H,SOy labelling of oleum sample means that 109 gm
pure Hy SO, is obtained on diluting 100 gm oleum with 9 gm H,O which

dissolves al free SO5 in oleum.

If 109% H5S0, labelled oleum, the percent of free SO3 and H5S0, are
A. 30%, 70%
B. 40%, 60%
C. 60%, 40%

D. 15%, 85%

Answer: B

o Watch Video Solution

Lecture Sheet Exercise lii Matrix Matching Type Questions



https://dl.doubtnut.com/l/_6ilDtCYXR2L2

List -1

A) 172 g unpure FeSO, consumed 20 mL of
M acidic KMaO,

By 8.4 gm impure H,C,0,.2H,0 consumed
0. Imole NaOH

C} 2.84g FeSO,INH 3,30, 6H,0 impure
sample reduced 0.02 equivalem K,Cr 0,
weidic solution

D) 1 87eq HyO reduced 75gm impure

1 KMnuO, in scidic medium

List -11
Py T5% purc sample

Q) 19.67% pure sample

Ry T9.1% pure sample

Sy BE37% purc xample

° View Text Solution

2. Match the

List -1 { Reaction}
A) | mole of oxalic scid + | mole of NaOM
B} | mole of H PO, + 1 mole KOH
C) 1 mole of CalOH), + | mude of HCI
D) Dry slaked lime + Cl,

following

List - 11 i Type of Salt)
P) Mized salt
Q) Basic sakt
R) Acid salt
5) Normal salt

columns

° Watch Video Solution

Lecture Sheet Exercise lii Integer Type Questions

mol. Wt

1. What is Fa wt_ of FeC>204 getting converted into Fe™? and COy?

q. w



https://dl.doubtnut.com/l/_wH6ETH3OAvJr
https://dl.doubtnut.com/l/_GOIxWNyeuTAi
https://dl.doubtnut.com/l/_CeBM5Wp6Il6z

I ° Watch Video Solution

Mol wt
2.Eq. wt

What is x for acetaldehyde converted into acetic acid.

o Watch Video Solution

3. Methane is converted into faormaldehyde. What is the ratio of

molecular weight to equivalent weight of Methane?

o Watch Video Solution

4. What is the equlivalent weight of methane during its Combustion?

o Watch Video Solution

5. For the following reaction

molar mass of Ny

X

N, + 3Hy — 2N Hj equivalent mass of N, =


https://dl.doubtnut.com/l/_CeBM5Wp6Il6z
https://dl.doubtnut.com/l/_pxRGAhgLdfAR
https://dl.doubtnut.com/l/_zueIUQcfVOfI
https://dl.doubtnut.com/l/_XopOuokPXYpi
https://dl.doubtnut.com/l/_rLZCKVGXRxHi

What is the value of x.

° Watch Video Solution

6. On heating 1.763 g of hydrated BaCl,. nH5O to dryness, 1.505 g of

anhydrous salt remaind. What is the value of n (Mol wt of BaCl, = 208)

° Watch Video Solution

Mol wt
Eq.wt

7. What is the ratio of Fey(SO,)

; being converted into

Fe(OH),

° Watch Video Solution

Lecture Sheet Exercise Iv Straight Objective Type Questions

1.500 ml of a 0.1 N solution of AgINO3 added to 500 ml of 0.1 N solution

of KCl.The concentration of nitrate ion in the resulting mixture is


https://dl.doubtnut.com/l/_rLZCKVGXRxHi
https://dl.doubtnut.com/l/_zQnVbq3lzbZl
https://dl.doubtnut.com/l/_LqzDKxGljB5F
https://dl.doubtnut.com/l/_DqqT60KqRStq

A.0.05N

B.OIN

C.02N

D. reduced to zero

Answer: A

o Watch Video Solution

2. What will be present in th solution when 50 of ml 0.1 M HCl is mixed

with 50 ml of 0.1 M NaOH soltion?

A. 4.5 millimole of H

B. 0.05 millimole of OH ~

C. 0.1 M Nacl

D.10" "M of H* ion

Answer: D



https://dl.doubtnut.com/l/_DqqT60KqRStq
https://dl.doubtnut.com/l/_UF4BWLEO5TfS

| ° Watch Video Solution

3. Number of moles of KMnQO, required to oxidize one mole of
Fe(C50y) in acidic medium is

A. 0.6

B. 0.167

C.20

D. 40

Answer: A

° Watch Video Solution

4. H,C504.2H50 (Mol wt =126) can be oxidised intoCO, by acidified

KMnQOy,. 63 gms of oxalic acid can not be oxidised

A.3.16 gms of KMnO,


https://dl.doubtnut.com/l/_UF4BWLEO5TfS
https://dl.doubtnut.com/l/_Cl6eewD0stCZ
https://dl.doubtnut.com/l/_MEUS74fXnoHy

B. 200 mlof 01 M KMnQOy,

C. 0.1 mole of KMnQy

D. 0.02 moles of KMnO

Answer: C

° Watch Video Solution

5.10 g sample of H50 just decolorised 100 ml of 0.1 M KMnOQOy in acidic

medium % by mass of HyOj, in the sample is

A.34

B.8.5

D.17

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MEUS74fXnoHy
https://dl.doubtnut.com/l/_3qvXsGi9SAiS

6. If x g is the mass of NaHC50, required to neutralize 100 ml of 0.2 M
NaOH and y g that required to reduce 100 ml of 0.02 M KMnQOy in acidic

medium then

Az =y
B.2x =y
Cx =4y
D.dx =y
Answer: C

o Watch Video Solution

7.What volume at STP of gaseous ammonia wil be required to be passed

into 100 ml of 0.5M H5S50, to bring down its strength of 0.25 M?

A. 1560 L


https://dl.doubtnut.com/l/_3qvXsGi9SAiS
https://dl.doubtnut.com/l/_Kqmxdpn0EoES
https://dl.doubtnut.com/l/_Fb1YTy6KAfo2

B.1120 L

C.1.680 L

D.2.240 L

Answer: B

° Watch Video Solution

8.20 ml of 0.1M FeC50, solution is titrated with 0.1M K MnQ, is acidic

medium. Volume of KMnQO, solution required to oxidise FeC,O,

completely is

A. 20 ml

B.12 ml

C.8ml

D.4 ml

Answer: B

[ - 1


https://dl.doubtnut.com/l/_Fb1YTy6KAfo2
https://dl.doubtnut.com/l/_3n6RpXzYCgOv

| @J Watch Video Solution J

9. To neutralize completely 20 ml of 0.1 M phosphorus acid, 40 mol of KOH
was required. What volume of this KOH solution will be required to
neutralize 0.66 g of H3 POy?

A. 100 ml

B. 200 mlof 01 M KMnQOy

C.300 ml

D. 66.7 ml

Answer: A

o Watch Video Solution

10. During the titration of a mixture of NayCO3 and NaHCQOj3 against

HCI


https://dl.doubtnut.com/l/_3n6RpXzYCgOv
https://dl.doubtnut.com/l/_WHzY1W76zJIR
https://dl.doubtnut.com/l/_K4GKgmEe1Q8i

A. phenolphthalein is used to detect the first end point

B. phenophthalein is used to detect the second end point

C. methyl orange is used to detect the first end point.

D. methyl red is used to detect the first end point

Answer: A

° Watch Video Solution

Lecture Sheet Exercise Iv More Than One Type Questions

1. Which relation involve iodimetric titration?

A 2NG,252O3 + I, — NG,2S406 + 2Nal
B.2MNO, +2I~ + 16" — 2Mn "2 + 8H,0 + 5I,
C. Na3A303 =+ .[2 + HQO — NCL3A804 + 2HI

D.Cry0; > + 14H " + 51~ — 207 +3 + TH,0 + 31,


https://dl.doubtnut.com/l/_K4GKgmEe1Q8i
https://dl.doubtnut.com/l/_wcrSh48g0SH2

Answer: A::C::D

° Watch Video Solution

2. Which of the following are valid iodometric titractions?

AHCIO+2I- +H" - Cl- + I, + Hy,O
B.Os +2I~ +2H" — Oy + I, + Hy,O
C.2HNO, +2I~ +2H" — I, + 2NO + H,0

Answer: A::B::C

o Watch Video Solution

3. One mole of KMnO, is used for complete oxidation

of

FeSO4, FeCy04 and HyCy,04 respectively and separately. Pick up the

correct statement.


https://dl.doubtnut.com/l/_wcrSh48g0SH2
https://dl.doubtnut.com/l/_JvE9yr1pMWz4
https://dl.doubtnut.com/l/_LJBzTkkILsOi

A. 5 mole of FeSO, can be oxidised

B. 3/5 mole of FeCy0, can be oxidized

C.5/3 mole of FeC50, can be oxidized

D. 2.5 mole of HyC505 canbe oxidized

Answer: A::C::D

° Watch Video Solution

Lecture Sheet Exercise Iv Linked Comprehension Type Questions

1. 50 ml of given H,0, solution is added to excess Kl solution in acidic

medium. The liberated I, required 20 ml of 0.04 M standard Hypo
solution.
Molarity of HyO5 solution is

A8 x 10 M

B.4x 107 3M


https://dl.doubtnut.com/l/_LJBzTkkILsOi
https://dl.doubtnut.com/l/_griEmOA5wsdE

C.5x 107 M

D. None of these

Answer: A

o Watch Video Solution

2. 50 ml of given H,0, solution is added to excess Kl solution in acidic
medium. The liberated I, required 20 ml of 0.04 M standard Hypo
solution.
Weight of H,O5 present in 250 ml of given solution is

A.0034 g

B.0.068 g

C.0136¢g

D. None of these

Answer: B



https://dl.doubtnut.com/l/_griEmOA5wsdE
https://dl.doubtnut.com/l/_LWDoHfF5rtsh

l @ yvatch video sSolution ]

3. A quantity of 25.0 mL of solution containing both Fe®>* and Fe®* ions
is titrated with 25.0 mL of 0.0200 M KMnQO, (in dilute H5,S50,). As a

3+

result, all of the Fe?™ ions are oxidised to Fe®> ™ ions.

Next 25 mL of the original solution is treated with Zn metal finally, the
solution requires 40.0 mL of the same KMnQ, solution for oxidation to
Fe3 ™.
MnO; +5Fe*" +8H" — Mn®" + 5Fe*" + 4H,0
Zinc aded in the second titration wil

A. oxidize Fe?™ to Fe3+

B.reduce Fe® T to Fe?™

C.reduce Fe** to Fe

D.reduce Fe?™ to Fe

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LWDoHfF5rtsh
https://dl.doubtnut.com/l/_Cr6ghIDfnqGN

4. A quantity of 25.0 mL of solution containing both Fe®>" and Fe** ions
is titrated with 25.0 mL of 0.0200 M KMnQ, (in dilute HySO,). As a

3+

result, all of the Fe?™ ions are oxidised to Fe3 ™ ions.

Next 25 mL of the original solution is treated with Zn metal finally, the

solution requires 40.0 mL of the same KMnQ, solution for oxidation to
Fe3t.
MnO,; +5Fe*t +8H' — Mn*t +5Fe*" + 4H,0
IF 0.02 MKy;Cry07 is used instead of 0.02 M KMnQO, its volume
required in these titrations are respectively

A. 25mL, 40mL

B.25mL, 15mL

C.208 mL333 mL

D.104 mL, 16.7 mL

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LyslDEx66os7

Lecture Sheet Exercise Iv Matrix Type Questions

1. Match the following columns
List - | List = 11
Al muoke NaOWH Py 0.5 moke HISOJ
RS male ["nl:OH}:. Q) | mole HOY
2 moles KM, R 10 mokes Mabir's salt selution
Dy 1 mole KCr0, 51 5 moles oaalic acid solution

° Watch Video Solution

Lecture Sheet Exercise Iv Integer Type Questions

1.100 mL of 0.01 M XO, is reduced to X" " by 100 mL of 0.05 M Fe? " in

acidic medium. Thus oxidation state of X in X" is

° Watch Video Solution

2. 25 mL of 01 M solution of metallic salt (A) oxidised 25 mL of 0.1 M

sodium sulphite to sodium sulphate. If oxidation number of the metal in


https://dl.doubtnut.com/l/_7YyrPM3eixzf
https://dl.doubtnut.com/l/_bacWM63FDu1H
https://dl.doubtnut.com/l/_7Z6tigQ3ihCM

the salt (A) is 3, then new oxidation number of the metal is

° Watch Video Solution

3. 25 mL of a solution containing 6.1gL ' ofan oxalate of formula
K,H,(C50y),. nH50 required 18 mL of 0.1 N NaoH and 24 mL of 0.

KMnQy in the separate titrations. Thus x + y+ 2z +n =

° Watch Video Solution

4. Euivalent weights of two oxides of an element are 14 and M
respectively. What is the ratio of atomicity of oxygen in the second oxide

to first oxide?

° Watch Video Solution

Practice Sheet Exercise | Level | Straight Objective Type Questions



https://dl.doubtnut.com/l/_7Z6tigQ3ihCM
https://dl.doubtnut.com/l/_9C24Ys0imQny
https://dl.doubtnut.com/l/_LWhGCJOt1xCD

1. One mole of sodium represents

A.6.02 x 10?® atoms of sodium

B. 46 gms of sodium

C. 11g of sodium

D.34.5 g of sodium

Answer: A

o Watch Video Solution

2.The charge present on 1 mole electronsis

A. 96500 Coulombs

B. Coulomb

C.1.60 x 10~ ¢C

D. 0.1 Faraday


https://dl.doubtnut.com/l/_1125XI6z1DOl
https://dl.doubtnut.com/l/_0NIuwkYixI39

Answer: A

° Watch Video Solution

3.The gas which is twice as dense as oxygen under the same conditions is

A. Ozone

B. Sulphur trioxide

C. Sulphur dioxide

D. Carbon dioxide

Answer: C

o Watch Video Solution

4. Oridinary water contain one part of heavy water per 6000 parts of
water by weight. The number of heavy water molecules present in a drop

of water of volume 0.01 mL is (density of water 1 g/mL)


https://dl.doubtnut.com/l/_0NIuwkYixI39
https://dl.doubtnut.com/l/_emP5KVZyuWTh
https://dl.doubtnut.com/l/_HgXeA1AQKkVd

A 2.5 x 1016

B.5 x 107

C.5 x 10'6

D.7.5 x 106

Answer: B

o Watch Video Solution

5. Assuming that air at STP contained 80% by volume of nitrogen, the
volumeof air at STP that contains 4.8 x 10%* molecules of notrogen is
A.18L
B.448L
C.224 L

D.1.2L

Answer: C



https://dl.doubtnut.com/l/_HgXeA1AQKkVd
https://dl.doubtnut.com/l/_Azbgns6utBDa

| ° Watch Video Solution

6. The percentage of nitrogen in Magnesium nitride is

A 14

B. 28

C.42

D. 56

Answer: B

° Watch Video Solution

7. An element X forms two oxides. Formula of the first oxide is XO,. The
first contains 50% of oxygen. If the second oxide contains 60% oxygen,

the formula of the second oxide is

A. XO;


https://dl.doubtnut.com/l/_Azbgns6utBDa
https://dl.doubtnut.com/l/_puZw0XiGaCSm
https://dl.doubtnut.com/l/_dPQUBrk0ME3K

B. X203

C. X30,

D. X,0

Answer: A

o Watch Video Solution

8. Two gaseous samples were analysed. One contained 1.2 g of carbon and
3.2 g of oxygen. The other contained 27.3% carbon and 72.7% oxygen. The
experiemental data is an accordance with

A. Law of conservation of mass

B. Law of definite proportions

C. Law of reciprocoal proportions

D. Law of multiple proportions

Answer: B

[ - 1


https://dl.doubtnut.com/l/_dPQUBrk0ME3K
https://dl.doubtnut.com/l/_aiZd3NjLD48J

| @J Watch Video Solution J

9. Which of the following has number of molecules present equal to

those present in 16 grams of oxygen

A 16903

C. 169502

D. All the above

Answer: B

° Watch Video Solution

10. The ratio between the number of molecules in equal masses of CH,

and SO, is

Al:1


https://dl.doubtnut.com/l/_aiZd3NjLD48J
https://dl.doubtnut.com/l/_0WpCKzTAAfRF
https://dl.doubtnut.com/l/_dWLZikA7mJyr

B.4:1

C.1:4

D.2:1

Answer: B

° Watch Video Solution

Practice Sheet Exercise | Level li Straight Objective Type Questions

1. The density of a gas at STP is 1.5 g/L. Its molecular weight is

A 224

B.33.6g

C.336

D.44.8

Answer: C



https://dl.doubtnut.com/l/_dWLZikA7mJyr
https://dl.doubtnut.com/l/_8ZDw9dwPgy4S

| ° Watch Video Solution

2. The number of oxygen atoms present in 50 g of calcium carbonate is

A 6.023 x 10?3

B.30.1 x 10%

C.9.035 x 10%

D.1.20 x 10*

Answer: C

o Watch Video Solution

3. 8 gm of sulphus is completely burnt to get sulphur dioxide. The

number of molecules of SO, obtained is

A6 x £10%

B.3 x 102


https://dl.doubtnut.com/l/_8ZDw9dwPgy4S
https://dl.doubtnut.com/l/_QJUU7ksttiA4
https://dl.doubtnut.com/l/_7UKJFZ7qxTOc

C.1.5 x 10%

D.7.5 x 10?2

Answer: C

° Watch Video Solution

4. The density of water is 1g/mL Assuming that there are no

intermolecular spaces between water molecules in liquid water, the

volume of a water molecule is

A15x 102 ml

B.6 x 10~ 2ml

C.3 x 10" %ml

D.3 x 10~ 2ml

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7UKJFZ7qxTOc
https://dl.doubtnut.com/l/_RIUCzM6QdmDM

st Madecubes List-T1 (Empirienl formula)

Ay Glucose 1) BNH,
By Oxalic acud 2) CH O
C) lnorgunic Benzene W CH
D) Oaygenated water 1) CHO,
5. 5) HO

The correct match is

A A B C D
3 5 2 4

B. A B C D
2 4 1 5

C A B C D
1 3 2 4

D A B C D
4 2 1 3

Answer: B

o Watch Video Solution

6. Assertion: (A): Emprirical formula of ethane is CHj
Reason (R): Empirical formula of all alkenes is CH,

The correct answer is


https://dl.doubtnut.com/l/_RIUCzM6QdmDM
https://dl.doubtnut.com/l/_S3fXhjlo3GH6
https://dl.doubtnut.com/l/_gIW7vGQqmQu8

A.Both Aand R are true and R is the correct explanation of (A)

B. Both A and R are true and R is not the correct explanation of A.

C.Ais true but R is false

D. Ais false but R is true

Answer: B

o Watch Video Solution

7. Assertion A: Empiricial formula of glucose or that of acetic acid is
CH,0.

Reason(R):If percentage composition of elements is same, then empirical
formula is same.

The correct answer is

A.Both A and R are true and R is the correct explanation of (A)

B.Both A and R are true and R is not the correct explanation of A.

C.Ais true but R is false


https://dl.doubtnut.com/l/_gIW7vGQqmQu8
https://dl.doubtnut.com/l/_7PstOo0EOYWn

D. Ais false but R is true

Answer: A

o Watch Video Solution

8. Assetion(A): Acetylene on additional polymerization gives benzene.

Reason(R): The empirical formulae of acetylene and benzene are same

The correct answer is

A.Both A and R are true and R is the correct explanation of (A)

B. Both A and R are true and R is not the correct explanation of A.

C.Ais true but R is false

D. Ais false but R is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7PstOo0EOYWn
https://dl.doubtnut.com/l/_Omjc579rIUky
https://dl.doubtnut.com/l/_lehEb647xgiG

9. An alkaloid contains 17.28% of nitrogen and its molecular mass is 162.

The number of nitrogen atoms present in one molecule of the alkaloid is

A. five

B. four

C. three

D. two

Answer: D

o Watch Video Solution

10. A compound contains 20% sulphur. The molecular weight of the

compound could be

A.80

B. 240

C.400


https://dl.doubtnut.com/l/_lehEb647xgiG
https://dl.doubtnut.com/l/_DGZsJ9bDNsMM

D. 640

Answer: D

° Watch Video Solution

Practice Sheet Exercise | Level li More Than One Correct Answer Type

Questions

1.6.023 x 10?% atoms of Hydrogen can make

A. 0.05 moles of Hy molecules
B. 0.1 gms of Hydrogen atoms
C. 0.1 gram of molecules of Hydrogen

D. 0.1 gramatoms of Hydrogen

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_DGZsJ9bDNsMM
https://dl.doubtnut.com/l/_j58DdQwqspSG

2. Equal volume of oxygen and ozone at a given temperature and

pressure contain equal

A. number of moles

B. masses

C. number of granmatoms

D. number of respective molecules

Answer: A::D

o Watch Video Solution

3. A and B are two elements which form AB, and A,Bj if 0.18 mole of

AB, weights 10.6 g and 0.18 mole of A3 B3 weighs 17.8 g.Then

A. Atomic weight of Ais 21.2

B. Atomic weight fo B is 21.2

C. Atomic weight of A is 18.8


https://dl.doubtnut.com/l/_ZRfjeIDhxqz3
https://dl.doubtnut.com/l/_ugYYmAmvse0e

D. Atomic weight of B is 18.8

Answer: A::D

° Watch Video Solution

4. Which compound has less percentage of nitrogen by mass than in

N,H,?

A N H

B. NH;

C. HNO,

D. N205

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_ugYYmAmvse0e
https://dl.doubtnut.com/l/_uu9RQuxW0W1r

5.18 gms of glucose contains

A. 0.6 gram atoms of carbon

B. 0.6 grammolecules of Hydrogen

C. 0.6 grammolecules of CO,

D. 1.2 gramatoms of Hydrogen

Answer: A::B::D

o Watch Video Solution

Practice Sheet Exercise | Level li Linked Comprehension Type Questions

1. Avogadro's lasw states that under conditions of constant temp. and
pressure equal volume of gases contain equal no. of particles.
Experimental investigation shows that at one atmosphere pressure and a
temperature of 273 k, one mole of any gas occupies a volume of which is

very close to 22.4 lit. Therefore, the number of moles in any gas sample


https://dl.doubtnut.com/l/_MhYCbXAhTU35
https://dl.doubtnut.com/l/_HaDs8y3KqV9n

canbe found by comparing its volume at STP with 22.4 lit.
If avagadro's number is 6 x 10** molecules then the mass of one atom of

oxygen would be

16

A 3.02

amu

B.6 x 10~ 2% amu

C.16 amu

D.16 x 6.02 amu

Answer: C

o Watch Video Solution

2. Avogadro's lasw states that under conditions of constant temp. and
pressure equal volume of gases contain equal no. of particles.
Experimental investigation shows that at one atmosphere pressure and a
temperature of 273 k, one mole of any gas occupies a volume of which is

very close to 22.4 lit. Therefore, the number of moles in any gas sample


https://dl.doubtnut.com/l/_HaDs8y3KqV9n
https://dl.doubtnut.com/l/_GvWidaFxi6y5

canbe found by comparing its volume at STP with 22.4 lit.

At STP 40 lit of CO contains

A. 5.6 mole

B. 1.786 mole

C.7.635 mole

D. 1.934 mole

Answer: B

o Watch Video Solution

3. Avogadro's lasw states that under conditions of constant temp. and
pressure equal volume of gases contain equal no. of particles.
Experimental investigation shows that at one atmosphere pressure and a
temperature of 273 k, one mole of any gas occupies a volume of which is
very close to 22.4 lit. Therefore, the number of moles in any gas sample

canbe found by comparing its volume at STP with 224 lit.


https://dl.doubtnut.com/l/_GvWidaFxi6y5
https://dl.doubtnut.com/l/_t625yybd5bGB

Number of gram atoms of oxygen present in 03 gram mole of

H20204.2H2O is

A.03

B. 0.6

C.12

D.18

Answer: D

o Watch Video Solution

4. A gaseous hydrocarbon consumed 5 times its volume of oxygen as for
combustion. The volume of C'Oy produced in the reaction is thrice the
volume of hydrocarbon under the same conditions

How many grams of water is produced by combustion of 01 mol of the

givenn hydrocarbon?

A.72gm


https://dl.doubtnut.com/l/_t625yybd5bGB
https://dl.doubtnut.com/l/_zsQhiJSr5GfD

B.3.6gm

C.144 gm

D.1.8 gm

Answer: A

o Watch Video Solution

5. A gaseous hydrocarbon consumed 5 times its volume of oxygen as for
combustion. The volume of CO, produced in the reaction is thrice the
volume of hydrocarbon under the same conditions
What is the ratio of molecular weight to emperical formula weight of the
hydrocarbon?

A1

B.2

C.3

D.4


https://dl.doubtnut.com/l/_zsQhiJSr5GfD
https://dl.doubtnut.com/l/_GZtpD4RvmBnW

Answer: A

o Watch Video Solution

6. Match the following columns
List - | List - 11
AN, P 4% carbon by mass
H}C;J (1 Empincal tormula CH.O
Oy O H Oy B Vapour density - 14
Dy CH COOLH Sy I4N, clectrons an o mole

o Watch Video Solution

7. Match the following columns
List - 1 List - 11

Ay Ethyne Pr Emiperscal formula O

B Sen-?cnc Q) S0% carhon by mass

) Ethane R SO% carbon by atomicity

[y Buadiene 51 Two empencal fonmula umits per molecule

T1 10¢% hvdrogen by mass

o Watch Video Solution

Practice Sheet Exercise | Level li Integer Type Questions



https://dl.doubtnut.com/l/_GZtpD4RvmBnW
https://dl.doubtnut.com/l/_6NX6YxI4U7qR
https://dl.doubtnut.com/l/_Y30Vmz1FrQi0

1. Rahul Dravid wants to wear 6.023 x 10%! Ag atms in the form of a ring.
His Silver Gold Copper alloy ring consists of 20% of Silver. The mass of the

ring is 0.9 x. What is x?

° Watch Video Solution

2. A copper plate of 20 cm x 10 cm is to be plated with silver of 1T mm
thickness on both the sides. Number of moles of silver required for

plating is (density of silver =10.8 g m /cc)

° Watch Video Solution

3. A gaseous hydrocarbon on combustion produces four times its volume
of CO, by consuming six times its volume of oxygen. What is the ratio of

atoms of Hydrogen and carbon in that hydrocarbon?

° Watch Video Solution



https://dl.doubtnut.com/l/_Q9WVYayRBe3o
https://dl.doubtnut.com/l/_4RFGNDWXbjRh
https://dl.doubtnut.com/l/_3Jb5SjjfFCfH
https://dl.doubtnut.com/l/_py5IQ7pHsePT

4.0. moles of Hydrocaron on complete combustion produced 17.6 gms of
CO,. How many Carbon atoms are present in each molecule of the

hydrocarbon.

° Watch Video Solution

5. A gaseous paraffin requires five times its volume of oxygen for
complete combustion. How many carbon atoms are present in a molecule

of that paraffin?

° Watch Video Solution

6. Sulphur trioxide is prepared by the following two reactions:
Sg(s) + 802(9) — 8502(9),2502(9) + Oz(g) — 2503(9)

How many grams of SOj3 are produced from 1.6¢g.Sg ?

° Watch Video Solution



https://dl.doubtnut.com/l/_py5IQ7pHsePT
https://dl.doubtnut.com/l/_tajCqDVnXm4z
https://dl.doubtnut.com/l/_jrox36xxX1gv

7. How many moles of HyS0, can be reduced to SO, by 2 moles of

Aluminium?

° Watch Video Solution

8. How many moles of Mg can reduce one mole of dil. HNQOj into NH4Jr

ions ?

° Watch Video Solution

9.12 grams of a mixture of sand and calcium carbonate on strong heating
produced 7.6 grams of residue. How many grams of sand is present in the

mixture?

° Watch Video Solution



https://dl.doubtnut.com/l/_eFPhYz87n3gS
https://dl.doubtnut.com/l/_hHokRsj6WGTD
https://dl.doubtnut.com/l/_hmIL1J7uMqSz

10. 2 moles of pure KCIlO3 is decomposed to an extent of 66.6%. How

many does of O is released?

° Watch Video Solution

Practice Sheet Exercise li Level | Straight Objective Type Questions

1. Whast is the oxidation state of Fe in the product formed when acidified
potassium ferrocyanide K,[Fe(CN),] is treated with hydrogen
peroxide?

A +2

B.+3

C.+1

D.+6

Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_4LRZiVQaHWJv
https://dl.doubtnut.com/l/_U13MSp3WjfYt

2.MnO; + 8O3~ + H' — Mn*" 4 S0;".
The number of H " ions involved is

A 2

B.6

C.8

D.16

Answer: B

° Watch Video Solution

.
3. Cr(OH), + Hy0y —5' CrO;% + HyO the number

required to balance the above equation

Al

B.3

of OH ™



https://dl.doubtnut.com/l/_U13MSp3WjfYt
https://dl.doubtnut.com/l/_R42FUIZahYmh
https://dl.doubtnut.com/l/_bw4e1UjoYO6w

C.4

D.6

Answer: C

o Watch Video Solution

4.The oxidation number of V in Rb,[HV1yOqs] is

A +3
B.+5
C.+7

D.+6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bw4e1UjoYO6w
https://dl.doubtnut.com/l/_ncNsOQPkfSLe

5. In which reactions hydrogen is acting as an oxidizing agent?

A. with iodine to give hydrogen iodide

B. with lithium to give lithium hydride

C. with nitrogen to give ammonia

D. with sulphur to give hydrogen sulphide

Answer: B

o Watch Video Solution

6.1n Br30g, oxidation numbers of three bromines are

A+6, +4, +6

B.4+6, +2,7

C.+8,0, +8

D.+4, +4, +8


https://dl.doubtnut.com/l/_g31QKJzS4J9t
https://dl.doubtnut.com/l/_1Dvz4nXifsdO

Answer: A

° Watch Video Solution

7.

2- - + 3+ 2+
[Fe(H2O)2(C’204)2] +MnO, + H" — Fe’" + CO5 + Mn*" + Hy!
In this reaction, number of protons involved in the balanced equation are

A.10
B.8

C.6

D. 0.04

Answer: B

° Watch Video Solution

8. Which one of the following reactions is a redox reaction?


https://dl.doubtnut.com/l/_1Dvz4nXifsdO
https://dl.doubtnut.com/l/_cbHr8NOrIsr1
https://dl.doubtnut.com/l/_ps9jIAVEhUTQ

A. Pb*" (aq) + 2C1 (aq) — PbCly(s)
B. AgNOs(aq) + HCl(aq) — AgCl(s) + HNO3(aq)
C. NaOH(aq) + HCl(aq) — NaCl(aq) + H,O(l)

D.2Al(s) + 3Cl(g) — 2AICI3(s)

Answer: D

o Watch Video Solution

9. Oxidation number of sulpher in caro's acid

A +T7

B.+6

C.+4

D.+2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ps9jIAVEhUTQ
https://dl.doubtnut.com/l/_g7fTRAuEaV4u

10. What is the term for the electrode where oxidation occurs?

A. anode

B. cathode

C. oxidizing agent

D. reducing agent

Answer: A

° Watch Video Solution

Practice Sheet Exercise li Level li Straight Objective Type Questions

1. An element A in a compound AB has oxidation number -n. IT is oxidized
by C’rzO‘r;_ in acid medium. In the experiment 1.68 x 10~ % moles of
K,Cr,0, was used for 3.36 x 102 moles of AB. The new oxidation

number of A after oxidation is


https://dl.doubtnut.com/l/_g7fTRAuEaV4u
https://dl.doubtnut.com/l/_swBxWqf4A27O
https://dl.doubtnut.com/l/_vjBsVRRJJ8cK

A3

B.3—n

Cn—3

D.+n

Answer: B

o Watch Video Solution

2. What does the reducing agent do in an oxidation reduction reaction?

A. gains electrons from the oxidizing agent

B. loses electrons to the oxidizing agent

C.is always reduced

D. is reduced by the oxidizing agent

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vjBsVRRJJ8cK
https://dl.doubtnut.com/l/_pSNKTBX5wVbf

3. The oxidation number of iron in Fe + (2)(CO), is

A +1

C.+9

D.0

Answer: D

° Watch Video Solution

4. Oxygen exists in positive oxidation state only in

A. Peroxides

B. Polymers

C. Fluorides


https://dl.doubtnut.com/l/_pSNKTBX5wVbf
https://dl.doubtnut.com/l/_PreqYr5Q7T0Z
https://dl.doubtnut.com/l/_kN6egfeLw17s

D. lodides

Answer: C

° Watch Video Solution

5.1n which SO, acts as oxidant, while reacting with

A. Acidified KMnQO,

B. acidified K5Cry0y

C.Hy,S

D. acidified Cos HsOH

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kN6egfeLw17s
https://dl.doubtnut.com/l/_Lv43o9nueGrY

6. Which of the following shows highest oxidation number in combined

state

A. Os

B.Ru

C.Bothaandb

D. None

Answer: C

o Watch Video Solution

7. Given the lead acid battery reaction:
Charege — < Discharge

Which species is oxidized during battery discharge?

A.SO;~


https://dl.doubtnut.com/l/_nlw5SVk5rIMf
https://dl.doubtnut.com/l/_5gnVCsCzxtzG

B. H,O

C. Pb

D. PbO,

Answer: C

° Watch Video Solution

8. The oxidation number of covalency of sulphur in the sulphur molecule
(Sg) are

A.Oand 2

B.+6and8

C.0and 8

D.+6and?2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5gnVCsCzxtzG
https://dl.doubtnut.com/l/_ORbbBn7Z7IV5

9. The oxidation state of tungsten in NayW,0:5.10H50 is ?

A +12

B.+6

C.0

D.+8

Answer: B

° Watch Video Solution

10. The number of moles of MnO, and C’r207_2 separately required to
oxidise 1 mole of FeCy0, each in acidic medium respectively

A.0.5,0.6

B.0.6, 0.4

C.0.4,0.5


https://dl.doubtnut.com/l/_ORbbBn7Z7IV5
https://dl.doubtnut.com/l/_Nzc5RzLgxsBO
https://dl.doubtnut.com/l/_WQKMWWO9Acqq

D. 0.6, 0.5

Answer: D

° Watch Video Solution

Practice Sheet Exercise li Level li More Than One Correct Answer Type

Questions

1. The oxidation number of carbon is zero is

A. HCHO

B. CH,Cl,

C. C6H1206

D. C12H2,011

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_WQKMWWO9Acqq
https://dl.doubtnut.com/l/_lpnVKKVfJ04F

2. Which one are not correct about CHy = CCly?

A. Both carbon are in +2 oxidation state

B. Both carbon are in -2 oxidation state

C. One carbon has +2 and other has -2 oxidation state

D. The average oxidation number of carbon is zero

Answer: A::B

o Watch Video Solution

3. Which of the following reactions involve oxidation reduction?

B.3Me + Ny — Mg3N2

D.4KCN + Fe(CN), — K,[Fe(CN)g]


https://dl.doubtnut.com/l/_SAeDfq3WBolv
https://dl.doubtnut.com/l/_VOMfCcMN2hCF

Answer: A::B

° Watch Video Solution

4.Thermal decomposition of (NH,),Cr,O7 involves.

A. Oxidation of N
B. Reduction of Cr
C. Disproportionation of compound

D. Intermolecular redox process

Answer: A::B::D

° Watch Video Solution

5. For the reaction 2KC103; — 2K Cl + 3045 which statements (s) is (are)

correct?


https://dl.doubtnut.com/l/_VOMfCcMN2hCF
https://dl.doubtnut.com/l/_Swb3mN3e4axc
https://dl.doubtnut.com/l/_hDZRj5HlcH6G

A. It is disproportionation

B. It is intramolecular redox change

C.Cl atoms are reduced

D. Oxygen atoms are oxidized

Answer: B::C::D

o Watch Video Solution

Practice Sheet Exercise li Level li Linked Comprehension Type Questions

1. Oxidation number is the charge which an atom of an element has in its
ion or appears to have when present in the combined state. It is also
called oxidation state. Oxidation number of any atom in the elementary
state is zero. Oxidation number of a monoatomic ion is equal to the
charge on it. In compounds of metals with non metals, metals have
positive oxidation number while non metals have negative oxidation

numbers. In compounds of two difference elements, the more


https://dl.doubtnut.com/l/_hDZRj5HlcH6G
https://dl.doubtnut.com/l/_cVaOEn8vBKvh

electronegative element has negative oxidation number whereas the
other has positive oxidation number. In complex ions, the sum of the
oxidation number of all the atoms is equal to the charge on the ion. If a
compound contains two or more atoms of the same element, they may
have same or different oxidation states according as their chemical
bonding is same or different.

Oxidation number of sodium in sodium amalgam is

A +1

B.0

D.+2

Answer: B

o Watch Video Solution

2. Oxidation number is the charge which an atom of an element has in its

ion or appears to have when present in the combined state. It is also


https://dl.doubtnut.com/l/_cVaOEn8vBKvh
https://dl.doubtnut.com/l/_M5MAUu4GxPd6

called oxidation state. Oxidation number of any atom in the elementary
state is zero. Oxidation number of a monoatomic ion is equal to the
charge on it. In compounds of metals with non metals, metals have
positive oxidation number while non metals have negative oxidation
numbers. In compounds of two difference elements, the more
electronegative element has negative oxidation number whereas the
other has positive oxidation number. In complex ions, the sum of the
oxidation number of all the atoms is equal to the charge on the ion. If a
compound contains two or more atoms of the same element, they may
have same or different oxidation states according as their chemical
bonding is same or different.

The oxidation state of the most electronegative element in the products

of the reaction between BaO, and HyS0O, are

A.0 and -1
B.—-1and-2
C.—2andO

D. —2 and +1


https://dl.doubtnut.com/l/_M5MAUu4GxPd6

Answer: B

° Watch Video Solution

3. Oxidation number is the charge which an atom of an element has in its
ion or appears to have when present in the combined state. It is also
called oxidation state. Oxidation number of any atom in the elementary
state is zero. Oxidation number of a monoatomic ion is equal to the
charge on it. In compounds of metals with non metals, metals have
positive oxidation number while non metals have negative oxidation
numbers. In compounds of two difference elements, the more
electronegative element has negative oxidation number whereas the
other has positive oxidation number. In complex ions, the sum of the
oxidation number of all the atoms is equal to the charge on the ion. If a
compound contains two or more atoms of the same element, they may
have same or different oxidation states according as their chemical
bonding is same or different.

A compound of Xe and F is found to have 53.3% Xe (atomic weight =133).

Oxidation number of Xe in this compound is


https://dl.doubtnut.com/l/_M5MAUu4GxPd6
https://dl.doubtnut.com/l/_M5O2a1X2mtqH

A +2

B.0

C.+4

D.+6

Answer: D

o Watch Video Solution

4. In the chemical chagne aN,H, + bBrO; — aN; + bBr~ + 6H,0,
answer the following questions:

The number of electrons lost or gained during the redox change are

A.8

B.10

D.6


https://dl.doubtnut.com/l/_M5O2a1X2mtqH
https://dl.doubtnut.com/l/_P4AilcnXb0Yh

Answer: C

° Watch Video Solution

5. In the chemical chagne aN,H, + bBrO; — aN, + bBr~ + 6H,0,
answer the following questions:
The species acting as oxidant and reductant respectively are:

A.BrOg , NyH,

B. N2H4, B’T’O;

C. Nz, BTO3_

D. Br—, N, H,

Answer: A

° Watch Video Solution

Practice Sheet Exercise li Level li Matrix Matching Type Questions



https://dl.doubtnut.com/l/_P4AilcnXb0Yh
https://dl.doubtnut.com/l/_e6i5o6xJH0WT
https://dl.doubtnut.com/l/_gbhxwtwDRwGR

1. Match the following columns

Pist - | List - 11

Al Element showing <8 oxidation state i its compounds P Ruthenium
B Elements showing -2 oxidauon state in s compounds Q) Chlonne
C) Element showing +7 as mavimum oxidalion number in s compounds R} Manganese
D) Element showing -3 oxidation state in ils compounds 59 Sulphur
T} Nirrogen
o Watch Video Solution
2. Match the following columns
List - 1 List - 11
AyOxidation number of chlonne i bleaching powder Py-1
B} Oxidation number of sulphur 1n thio sulphuric acid Q-2
C) Oxidation number of phosphorous in sodium hypophosphite R} +6
D} Oxidation number of nitrogen in ammonium ion S)+l
T} -3

° Watch Video Solution

Practice Sheet Exercise li Level li Integer Type Questions

1. The oxidation number of carbon in Freon, and hydroge cyanide is +x

and +y. What is the value x+y.



https://dl.doubtnut.com/l/_gbhxwtwDRwGR
https://dl.doubtnut.com/l/_tpDlOucpmOFb
https://dl.doubtnut.com/l/_pyXMIX2FGR5z

l o Watch Video Solution

2. The sum of oxidation numbers of all carbon atoms in carbon atoms in

carbon suboxide is +x. What is value of x.

° Watch Video Solution

3. One mole of hydrozine loses 10 moles of electrons.If all the hydrogen
content is present in the product, the oxidation number of hydrogen in

product is +x. What is value of x.

o Watch Video Solution

4. How many of the following can be used as reducing agents.

coke, carbonmonoxide, hydrogen, potassium, aluminium.

o Watch Video Solution



https://dl.doubtnut.com/l/_pyXMIX2FGR5z
https://dl.doubtnut.com/l/_VVT6qHLOan2v
https://dl.doubtnut.com/l/_7C4H4V5IydgJ
https://dl.doubtnut.com/l/_jgkgV8cOLjl2
https://dl.doubtnut.com/l/_atMAS4KMyJiB

5. What is the electronegativity value on pauling scale of the halogen that

does not under....proportionation.

o Watch Video Solution

6. How may of following are redox reactions:

-decomposition of magnesite.

- decomposition of potasium chlorate in presence of MnQO;...
decomposition iron

- reaction of I with HBr.

- Reaction of AgNOs with KCl to from silver chloride precipitate.

o Watch Video Solution

7. How many of the following are correct statements.
-Valency of an element is always a whole number.
- In neutrilisation reaction between sulphuric acid and potassium SO,

and K " ion are spectator ions.


https://dl.doubtnut.com/l/_atMAS4KMyJiB
https://dl.doubtnut.com/l/_xA7BPylMC4Ec
https://dl.doubtnut.com/l/_aIBBTEyMEuB5

-Leade is .......... stable in +2 oxidation state due to inert pair effect.
-Thallium salts in +3 oxidation state act as good reducing agents.
—2H,S + SO5; — 3S + 2H50 is disproportionation reacts.

-Fluorine cannot be obtained from fluoride by chemical methods.

° Watch Video Solution

8. When the redox reaction
Cuy0 + NO; — LCu™ " 4+ NO is balanced by ion elecrtron method
acidic medium.

What is correct co-efficient of Cu ™ ™

° Watch Video Solution

9. When the redox reaction.
Cry0, ~ + CoH,0 — CyH,05 + Cr™ " is balanced by ion electron
method in acidic medium.

what is correct co-efficient of H * ions.

.Y l


https://dl.doubtnut.com/l/_aIBBTEyMEuB5
https://dl.doubtnut.com/l/_1npHK6KJuG2s
https://dl.doubtnut.com/l/_Ahsx4BNHnjYc

| ¥ vvatch video sSolution J

10. When the redox (disproportionation) reaction
S — SO; ~ + 8~ is balanced by ion electron method in basic
medium.

What is correct co-efficient of S~ ™.

° Watch Video Solution

Practice Sheet Exercise lii Level | Straight Objective Type Questions

1. What volume of H, at NTP is required to convert 2.8 g of N, into NHj?

A. 2240 ml

B. 2240 ml

C.6.72 it

D. 224 lit


https://dl.doubtnut.com/l/_Ahsx4BNHnjYc
https://dl.doubtnut.com/l/_XJUNrB60Mgyk
https://dl.doubtnut.com/l/_tqTwrqDTMK5W

Answer: C

° Watch Video Solution

2. The amount of Mg in gms to be dissovled in dilute H, SO, to liberate
H, which is just sufficient to reduce 160 g of ferric oxide is

A. 24

B.48

C.72

D. 96

Answer: C

° Watch Video Solution

3. The composition of LPG is butane and isobutane. The amount of

oxygen that would be required for combustion of 1 kg of LPG will be


https://dl.doubtnut.com/l/_tqTwrqDTMK5W
https://dl.doubtnut.com/l/_K5dcVfjPLpjn
https://dl.doubtnut.com/l/_0ZXFBfkbFqwI

approximately.

A.4.5Kg

B.18 Kg

C.2.7Kg

D.3.6 Kg

Answer: D

° Watch Video Solution

4.X forms an oxide X,03 0.36 grams of X forms 0.56 grams of X,03. So

the atomic weight of X is

A.36

B. 565

C.28

D.43.2


https://dl.doubtnut.com/l/_0ZXFBfkbFqwI
https://dl.doubtnut.com/l/_2yygAFowUOcr

Answer: D

° Watch Video Solution

5.1g of Mg is burnt in a vessel containing 0.5 g of oxygen. The remaining

unreacted is

A.0.25 g of Mg

B. 0.1 g of Mg

C.01gof Oy

D.0.75 g of Mg

Answer: A

° Watch Video Solution

6. 20 ml of nitric oxide combines with 10 ml of oxygen at STP to give NOs.

The final volume will be


https://dl.doubtnut.com/l/_2yygAFowUOcr
https://dl.doubtnut.com/l/_eafE4B8HQWMX
https://dl.doubtnut.com/l/_6gy69p24VOpL

A.30 ml

B.20 ml

C.10 ml

D.40 ml

Answer: B

o Watch Video Solution

7. 40 ml of a hydrocarbon undergoes combustion in 260 ml oxygen and
gives 160 mlof COs. If all volumes are measured under similar conditions
of temperature and pressue, the formula of the hydrocarbon is

A.C3Hg

B. CyHyg

C.CsHyy

D. C4H10


https://dl.doubtnut.com/l/_6gy69p24VOpL
https://dl.doubtnut.com/l/_ZKy5YPMptl11

Answer: D

° Watch Video Solution

8. The volume of C'O, that can be obtaind at STP from 60 g. of 70% pure

MgCOs is

A.16L

B.1.2L

C.12L

D.56L

Answer: B

° Watch Video Solution

9.70 g of a sample of magnesite on treatment with excess of HCl gave 11.2

L of CO, at STP. The percentage purify of the sample


https://dl.doubtnut.com/l/_ZKy5YPMptl11
https://dl.doubtnut.com/l/_P1THUR79qZgs
https://dl.doubtnut.com/l/_qgDVjm1gZuoK

A. 80

B.70

C.60

D. 50

Answer: C

o Watch Video Solution

10.7 g of a sample of sodium chloride on treatment with excess of silver

nitrate gave 14.35 g of AgCl. The percentage of NaCl in the sample is

A.80

B. 50

C.658

D.83.5

Answer: D



https://dl.doubtnut.com/l/_qgDVjm1gZuoK
https://dl.doubtnut.com/l/_sGLwuQOaEFkE

| ° Watch Video Solution

Practice Sheet Exercise lii Level li Straight Objective Type Questions

1. 18.4g of a mixture of CaCO3 and MgCOs on heating gives 4.0g of

magnesium oxide. The volume of CO, produced at STP in this process is

A112L

B.4.48 lilt

C224L

D.336L

Answer: B

o Watch Video Solution

2. The equivalent weights of S in SCl, and S;Cl, are in the ratio


https://dl.doubtnut.com/l/_sGLwuQOaEFkE
https://dl.doubtnut.com/l/_StxlLm0oVYxG
https://dl.doubtnut.com/l/_KpaSsQqaX3tx

A 1:2

B.2:1

C.1:1

D.1:4

Answer: A

o Watch Video Solution

3. Equivalent weights of K,Cr,07 in acidic medium is

A.0.245

B.0.49

C.147

D. 2.96

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KpaSsQqaX3tx
https://dl.doubtnut.com/l/_M3uJjXXo6ijK

4.When Ferrous sulphate acts as reductant, its equivalent weight is

A. twice that of its molecular weights

B. equal to its molecular weight

C. one half of its molecular weight

D. one -third of its molecular weight

Answer: B

o Watch Video Solution

5. What is the mole percentage of O, in a mixture of 7g of N, and 8g of

0,?

A. 0.25

B.0.75

C.05


https://dl.doubtnut.com/l/_M3uJjXXo6ijK
https://dl.doubtnut.com/l/_O8GnvzY3CHyU
https://dl.doubtnut.com/l/_6pLSraeSh58G

D.04

Answer: C

° Watch Video Solution

6. One litre of a solution contains 189 gm of HNQO;3 and one lire of
another solution contains 3.2 gm of NaOH. In what volume ratio must
these solutions be mixed to obtain a neutral solution?

A3:8

B.8:3

C.15:4

D.4:15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6pLSraeSh58G
https://dl.doubtnut.com/l/_OQX4b0rgPMJK
https://dl.doubtnut.com/l/_eqwClcVH3WxN

7. How many litres of CO, at STP wil be formed when 100 of 0.1M H,S0,

reacts with excess of Nay,CO3?

A.224

B.2.24

C.0.224

D.56

Answer: C

o Watch Video Solution

8.x grams of calcium carbonate was completely burnt in air. The weight of

the solid residue formed is 28 g. What is the value of x (in grams)?

A. 44

B. 200

C.150


https://dl.doubtnut.com/l/_eqwClcVH3WxN
https://dl.doubtnut.com/l/_vzzeGHwsBtTC

D. 50

Answer: D

° Watch Video Solution

9. 10 grams of CaCOj3 is completely decomposed to x and CaO. 'x' is
passed into an aqueous solution containing 0.Imole of sodium carbonate.
What is the number of moles of sodium bicarbonate formed? (mol. wts:
CaCO3 = 100, NaCO3 = 106, NaHCO3 = 84)

A.0.2

B. 01

C.0.01

D.10

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vzzeGHwsBtTC
https://dl.doubtnut.com/l/_4nJY6qcJXT5r

10. The volume of CO, obtained by the complete decomposition of one

mole of NaHCOQOs at STP is

A24L

B.1M.2L

C.4481L

D.448L

Answer: B

° Watch Video Solution

Practice Sheet Exercise lii Level li More Than One Correct Type Questions

1. In which of the following reactions, no change in gaseous volume

occurs when measured at similar T and P?

A. Combination of N, and O, to give NO


https://dl.doubtnut.com/l/_lzTEC6Irsric
https://dl.doubtnut.com/l/_22FrhDvn9DeG

B. Combination of N, and Hs to form NHj

C. Combustion of carbon to give CO,

D. Combustion of carbon monoxide

Answer: A::C

° Watch Video Solution

2. One litre of CO, is passed over hot coke. The volume becomes 14 lit.

The resultant mixture contains.

A. 0.6 lit CO,

B.0.6 lit CO

C.08lit CO

D.038lit CO,

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_22FrhDvn9DeG
https://dl.doubtnut.com/l/_QetKN0yIApSG

3. Which relations between equivalent weight (E) and Molecular weight

(M) of reactant are correct for the given change?

A FeCl, int Fe(OH),: E — %
M
B. Fey(SO,), into Fe'?, E = -

C. FGSO4 into F€2(SO4)3, E =

SIS

D. KsMnQOy into KMnOy: E =

Answer: A::B

o Watch Video Solution

4. K [Fe(CN);] is converted into CO; %, Fe™? ions and NO; ions.

A. N is reduced

B. Cis oxidised


https://dl.doubtnut.com/l/_QetKN0yIApSG
https://dl.doubtnut.com/l/_aqyHZsAf5pXf
https://dl.doubtnut.com/l/_GvswWq6g6uUI

C.lorn is oxidised

Formula wt

D. Eq.wt
9 61

Answer: B::C::D

° Watch Video Solution

5. 4Mg+ 10HNO; — 4Mg(NOs), + NHyNOs + 3H,0. In this
reaction
A. 96 gms magnesium can reduce one mole of HNQO;
: : N :
B. Equivalent weight of reduced HNOQOj; is 3 of its molecular weight

C. Entire HNQOj involved in the reaction is reduced

D. HNOs is reduced to the best possible extent

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_GvswWq6g6uUI
https://dl.doubtnut.com/l/_D2l5SHK9EB6R

Practice Sheet Exercise lii Level li Linked Comprehension Type Questions

1. In a reaction vessel, 100gH, and 100 g Cl, are mixed and suitable
conditions are provided for the reaction: Hy(4) + Cly(4) — 2HCI ()
The amount of HCl formed in this reaction (at 100% yield) will be

A.1028 g

B.73g

C.365g

D.142 g

Answer: A

° Watch Video Solution

2. In a reaction vessel, 100gH, and 100 g Cl, are mixed and suitable
conditions are provided for the reaction: Hy(4) + Cly(4) — 2HCI )

The amount of HCl formed (at 90% yield) will be


https://dl.doubtnut.com/l/_7lpc1WzhXbl1
https://dl.doubtnut.com/l/_TxYMgNPXTgPw

A.368¢g

B.625g

C.80g

D.92.53 g

Answer: D

o Watch Video Solution

3. 50 ml of given H50O, solution is added to excess Kl solution in acidic
medium. The liberated I, requires 20 ml of 0.04 M standard Hypo
solution.
Molarity of HyOs solution is

A8x107°M

B.4x 10 M

C.5x 107 °M

D. None of these


https://dl.doubtnut.com/l/_TxYMgNPXTgPw
https://dl.doubtnut.com/l/_YwnbHPvtSB95

Answer: A

° Watch Video Solution

4. 50 ml of given H50, solution is added to excess Kl solution in acidic
medium. The liberated I, requires 20 ml of 0.04 M standard Hypo
solution.
Weight of H,O, present in 250 ml of given solution is

A.0034 g

B.0.068 g

C.0136g

D. None

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YwnbHPvtSB95
https://dl.doubtnut.com/l/_7Fj48pese1pg

5. 50 ml of given H50O5 solution is added to excess Kl solution in acidic
medium. The liberated I, requires 20 ml of 0.04 M standard Hypo
solution.
The strength of given 250 m H,O, solution is

A. (a) 0.0272 g/100 cc

B. (b)0.136 g/100cc

C.(c)0.544g/100cc

D. (d)None of these

Answer: A

° Watch Video Solution

Practice Sheet Exercise lii Level li Matrix Matching Type Questions



https://dl.doubtnut.com/l/_kpgiq7wMCNtk

1. Match the following columns

Column-1 (Limiting reagent) Column-I1
Ay M2 + 3H,—™ INH; P H.
0.2 mole 0.7 mole }
Bi ”: 2O “--C:jl: QIC
lg 24z
(::,C +0, —=C0 RO,
0.5g 1.240m )
D) H,  + Oy —= 2.0 )N,
2 g

° Watch Video Solution

Column-1 Column-11
) % |
At FeC,0, + 005 + H" —— Products Py r
¥ |
B} Fe, O, + MnO, + H' —— Products Q-
C) KHO,0, + MO, + H" — Producis RiM
, M
D) H,0, +Cq03 +H' —— Products S5

2.

o View Text Solution

Practice Sheet Exercise lii Level li Integer Type Questions



https://dl.doubtnut.com/l/_Bd4nMtKjicud
https://dl.doubtnut.com/l/_djW5SlwPcp7t

1. One litre each of 1M Aly(SO,),4 and 1M BaCl, are mixed. What is the

molarity of sulphate ions in the resultant solution?

° Watch Video Solution

2. How may moles of HyOy must be present in 2L of its solution, such
that 100 ml of the solution can liberate 3.2 grams of oxygen at 273°C

and 0.5 atm pressure?

° Watch Video Solution

3. 70 gms of a metal oxide on reduction produced 54 gms of metal. The

atomic weight of the metal is 81. What is its valency?

° Watch Video Solution



https://dl.doubtnut.com/l/_t69Jw0O7iuta
https://dl.doubtnut.com/l/_F3ga2EcpwJTs
https://dl.doubtnut.com/l/_JKRiwJI1N1X5

4. 5.4 grams of a metal is able to produce 0.6 grams of H, gas with acid

action. What is the equivalent weight of that metal?

° Watch Video Solution

5. Equivalent weight of a metal chloride is 75.5. How many moles of NaOH
is required to completely precipitate one mole of metal hydroxide. Atomic

weight of the metal is 120.

° Watch Video Solution

6. 2Na25'203 + I, — Na25'406 + 2Nal

How many equivalents of Hypo is oxidised by one mole of lodine?

° Watch Video Solution



https://dl.doubtnut.com/l/_88VXSSYmcDHI
https://dl.doubtnut.com/l/_Uume8SobJwZi
https://dl.doubtnut.com/l/_uxbDD3sM2T85

7.The equivalent mass of an element is 4. Its chloride has vapour density

59.25. Then the valency of the element is

° Watch Video Solution

8. lonistable H atom in H3PQOs is x and in H3 PO, is y. Then ratio of x,y is

° Watch Video Solution

9. 10 g of a metal carbonate on heating given 5.6 g of its oxide. The

equivalent amont metale 5x. What is x.

° Watch Video Solution

10. The reduction of 1.49 of a metal oxide required 560 ml of H, at STP. If

atomic mass of metal is 40, formula of its chloride will be MCl, xz =



https://dl.doubtnut.com/l/_U4g0Hbl8dUaa
https://dl.doubtnut.com/l/_kv8JArpHTDAd
https://dl.doubtnut.com/l/_ddtfN2kwQDi1
https://dl.doubtnut.com/l/_pp7WOgPHayc9

| &J Watch Video Solution I

Practice Sheet Exercise Iv Level | Straight Objective Type Questions

1. A mixture of K,C0, and KHC50, required equal volumes of

0.1M K,Cr,0~ for oxidation and 0.1 M NOH for neutralisation is separate

titratiosn. The molar ratio of K;CrO, and KHC50, in the mixture is

Al:1

B.2:1

C.1:2

D.3:1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pp7WOgPHayc9
https://dl.doubtnut.com/l/_hfcD4OeBdE5o

2. An equimolar mixture of NayCy0, and HyC504 required V1L of
0.1MKMnO, in acidic medium for complete oxidation. The same
amount of the mixture required V5L of 0.1 M NaOH for neutralization. The
ratioof Vi to Vs is

Al:2

B.2:1

C.2:5

D.5:2

Answer: C

o Watch Video Solution

3. What volume at STP of gaseous ammonia will be required to be passed

into 100 ml of 0.5M H, SO, to bring down its strength to 0.25 M?

A.1.560 L


https://dl.doubtnut.com/l/_a4iUB8XoxDyS
https://dl.doubtnut.com/l/_yNYTEKCgva9B

B.1120 L

C.1.680 L

D.2.240 L

Answer: B

o Watch Video Solution

4. A mixture containing 0.05 mol of K,Cr,0; and 0.02 mol of KMnO,
was treated with excess of Kl in acidic medium.The liberated iodine
required 2.0 L of NaySO;3 solution of titration. Concentration of
NayS50;3 solution was

A.0.125mol L ~*

B.0.20mol L ~*

C.0.25molL !

D. 0.30mol L !


https://dl.doubtnut.com/l/_yNYTEKCgva9B
https://dl.doubtnut.com/l/_5h4gXh6BABmG

Answer: B

° Watch Video Solution

5. The volume of 01 M AgNOj3 should be added to 10.0 ml of

0.09M K5CrOy, to precipitate all the chromate as Ag,CrQy is

A. 18 ml

B.9 ml

C.27 ml

D.36 ml

Answer: A

° Watch Video Solution

6.0.1M — KMnQy is used for the following titration. How much volume

of the solution in ml will be required to react with 0.158 gm of NayS>053?


https://dl.doubtnut.com/l/_5h4gXh6BABmG
https://dl.doubtnut.com/l/_fBxi6XKGrW1y
https://dl.doubtnut.com/l/_aWuFzp2z3G3D

$,0%~ + MnO, + Hy,O — MnO,(s) + SO>~ + OH ™

A.'80ml
B. 26.67 ml
C.13.33 ml

D. 16 ml

Answer: C

o Watch Video Solution

7.X gm of KH(C50, requires 100 ml of 0.02M K MnQO, in acidic medium.
In another experiment, y gm of KHC50, requires 100 mkl of 0.05 M
Ca(OH),.The ratio of xand y is

Al:1

B.1:2

C.2:1


https://dl.doubtnut.com/l/_aWuFzp2z3G3D
https://dl.doubtnut.com/l/_g12it8mHGXp9

D.5:4

Answer: B

° Watch Video Solution

8.100 mL of H50, is oxidized by 100 mL of 1M KMnOQO, in acidic medium
(MnO, reduced to Mn"?) 100 mL of same H,O, is oxidized by v mL of
1M KMnQOy in basic medium (MnO, reduced to MnQOy). Find the value
of v:

A. 500

B. 100

C.100/3

D. 500/3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_g12it8mHGXp9
https://dl.doubtnut.com/l/_z3Ujpm8gkvyj

9. A solution of NayS50j5 is standardized iodometrically against 01262 g

of KBrOs. This process required 45 mL of the NayS5503 solution. What

is the strength of the NayS,035? (K =39, Br = 80)

A .02 M

B.O1M

C.0.05M

D.OIN

Answer: B

o Watch Video Solution

10. How much volume of 0.40 MNa5S;05 would be required to react with

the I, liberated by adding excess of Kl of 50 mLof 0.20 M M CuSO,

A. 125 mL

B.25 mL


https://dl.doubtnut.com/l/_JHEvpMabxc2X
https://dl.doubtnut.com/l/_FkHjbinjfoyU

C.50mL

D.2.5mL

Answer: B

o Watch Video Solution

Practice Sheet Exercise Iv Level li Straight Objective Type Questions

1. To a 25 ml H,0, solution, excess of acidified solution of potassium

iodide was added. The iodine liberated required 20 ml of 0.3 N sodium
thiosulphate solution. The volume strength of H,O, solution is

A.1.344

B. 0.672

C.2.688

D. 0.896


https://dl.doubtnut.com/l/_FkHjbinjfoyU
https://dl.doubtnut.com/l/_3Jm3cixsDhrX

Answer: A

° Watch Video Solution

2. Phenolphthalein is not a good indicator for titrating

A. NaOH against oxialic acid

B. NaOH against HCI

C. Ferrous sulphate against KMnO,

D. NaOH against Hy SO,

Answer: C

° Watch Video Solution

3. What volume of 0.01M K,Cr,0; would be required to oxidize Fe(ll) in
50 ml of 0.03 M solution of ferrous ammonium sulphate in acidic

medium?


https://dl.doubtnut.com/l/_3Jm3cixsDhrX
https://dl.doubtnut.com/l/_wbkaOkmF7wNp
https://dl.doubtnut.com/l/_99eHYGsU6Psa

A. 150 ml

B.75 ml

C.50 ml

D. 25 ml

Answer: D

o Watch Video Solution

4. 40 mL of 0.05 M solution of sodium sesquicarbionate
(NayCO3. NaHCO3.2H50) is titrated against 0.05 M HCl solution. X ml
of HCl solution is used when phenophthalein is the indicator and y ml of
HCl is used when methyl orange is the indicator in two separate titrations

Hence (y-x) is

A. 80mL
B.30mL

C.120mL


https://dl.doubtnut.com/l/_99eHYGsU6Psa
https://dl.doubtnut.com/l/_VUJDjvrEJKL8

D. None of these

Answer: A

° Watch Video Solution

5. In the mixture of NaHCO3 and NaCOj;, volume of a given HCI
required is x ml with phenolphathalein indicator and further y mL is
required with methyl orange indicator. Hence volume of HCl for complete

reaction of NaHCOj3 present in the original mixture is

A. 2x

B.y

C.x/2

D. (yx)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VUJDjvrEJKL8
https://dl.doubtnut.com/l/_lIUc57uVEpOp

6. A 100 ml mixture of NayCO3 and NaHCOs is tittrated against 1 M
HCl. If v;L and vy L are consumed when phenolphthalein and methyl
orange are used as indicators respectively in two separate titrations,
which of the following is true form molarities in the original solution.

A. molarity of NayCO3 = 20v,

B. molarity of NaHCO3 = 10(vy — 2v;)

C. molarity of Na;CO3 = 10(vy + v1)

D. molarity of NaHCO3 = 10(vy — v1)

Answer: B

o Watch Video Solution

7. A mixture of Na;CO3 and NaHCOj3 having a total weight of 100 gm
on heating produced 11.2L of CO, under STP conditions. The percentage

of NasC'Ojs in the mixture is


https://dl.doubtnut.com/l/_hbfqD8CMjNqB
https://dl.doubtnut.com/l/_5RvYHbpKGCTT

A. 0.558

B.0.442

C.0.84

D.0.16

Answer: D

o Watch Video Solution

8.2mol FeSOy in acid medium are oxidised by x mole of KMnQ,, where
as 2 moleof FeCy,0y, in acid medium are oxidized by y mole of KMnO,.
The ratioof x and y is

Al/3

B.1/2

C.1/4

D.1/5


https://dl.doubtnut.com/l/_5RvYHbpKGCTT
https://dl.doubtnut.com/l/_Y6FbfOKGokB8

Answer: A

o Watch Video Solution

9.The end point of iodometic titrations is detected by adding starch just
near end point and not all the beginning of titration. Which statement is
not valid for this falt?
A. Starch form comple with I,
B.Due to show decompositio of complex a diffuse end point is
obtained
C.lodometric titratic are made in strong alkaline medium where
starch is either hydrolysed or decomposed
D. lodometric titrations are made in neutral medium where starc is

neither hydrolysed nor decomposed.

Answer: C

| o Wikl \ 2 dan Ol iklmn



https://dl.doubtnut.com/l/_Y6FbfOKGokB8
https://dl.doubtnut.com/l/_RGUBTFsFskOR

L ¥yvdalilll VIUCV JViuLivii )

10. lodometric titrations are usually performed is neutral or mildlyalkaline

(pH=8) or weakly acidic solution. Which statement is not vlaid for this

observation?

A. In strong alkaline solution I, disproportinate to I ~ and IO~

B. In strong acidic solutions starch used to detect the end point tens

to hydrolyse or decomposed

C.I~ produced during titration tends to be oxidised by dissolved

oxygen in acidic medium.

D. Reducing power of reducing agent is increased in strong acidic

medium.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RGUBTFsFskOR
https://dl.doubtnut.com/l/_PVRneg3ineT2

Practice Sheet Exercise Iv Level li More Than One Correct Type Questions

1. When non stoiciometric compound Fejg50 is heated in presence of
oxygen then it convents into Fe,O3. Which of the following statement is

correct?

A. Equivalent weight of Feyg50 is . Where Mp is molecular
weight of Feq 950

B. The number of moles of Fe ™2 and Fet2M 1 mole Fe 50 are 0.1
are 0.85 respectively

C. The number of moles of Fe 3, and Fe*?2 in 1 mole of Feg 450 are
0.85 and 0.1 respectively.

D.The % composition of Fe™2 and Fe™ in the non stoichiometric

compound is 89.47% and 10.53 %

Answer: B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_jjsbRv9u5ODW

2.40 gm NaOH, 106gm Na,C'O3 and 84gm NaHCOj is dissolved in water

and the solution is made 1 lit, 20 ml of this stock solution is titrated with

1 N HCl, hence which of the followign statements are correct?

A. The burette reading of HCl will be 40 ml, if phenolphthaleinis used

as indiator from the beginning

B. The burette reading of HCkl will be 60 ml, if phenolphthalein is used

as indicator form the beginning.

C. The burette readin of HCl will be 40 ml, if methy orange is used as

indicator after the first end point

D. The burette reading of HCl will be 80ml, if methyl orange isused as

indicator from the very beginning.

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_cdm2xApmfGyU

COOH COOK

3. | and I behave is acids as well as reduing agents. Then which
COOH COOH

of the following are correct statements?

A. When they have as reducing agents, then their equivalent weights
are equal to half of their molecular wieghts respectively

B. 100 | of 1N solution of each is neutralized by 100 ml of INCa(OH),

C.1000 ml of 1IN solution of each is neutralized by 1000 ml of
1Ca(OH),

D.1000 ml 1 M solution of each is neutralized by 20 mlof 2 M of

KMnQOy in acidic medium

Answer: A::B::D

o Watch Video Solution

4. 1n which of the following reactions, oxygen is an oxidant?


https://dl.doubtnut.com/l/_quVarLWGrOhp
https://dl.doubtnut.com/l/_Ylj5Pwqx0iIr

A 2F5 + 02 — 2F20

B.C+02 —>002

C.2C + 0Oy, — 2C0

D.2N; + Oy — 2N50

Answer: B::C::D

o Watch Video Solution

5. Which of the following is /are correct about redox reactio?
MnO. + H® — Mn*? + 8,0;°
A.1mol of S2O is oxidized by 8 mol of MnO
B. The above redox reaction with the change of pH from 4 to 10 will
have an effect on the strichiometry of the relation
C. Change of pH from 4 to 7 will change the nature of the product.

D. At pH=7, S,0; ? ions are oxidised to HSO


https://dl.doubtnut.com/l/_Ylj5Pwqx0iIr
https://dl.doubtnut.com/l/_IHoc6hxy0ugf

Answer: B::C::D

° Watch Video Solution

6.18 ml 0 1.0 M Br, solution undergoes complete disproportionation in

basic medium to Br g and Br3e . Then the resulting solution requires 45
+3 P e e +3 e Ayidi +5

ml of As™* solutioni to reduce BrO;” to Br~. As™” is oxidised toAs

which statements are correct?

M
A. Ew(BT‘Q) = 1—0

M
B. E,(Bry) = 57

C. Molarity of As™3 = 0.4M

D. Molarity of As*?® = 0.2M

Answer: B::C::D

° View Text Solution



https://dl.doubtnut.com/l/_IHoc6hxy0ugf
https://dl.doubtnut.com/l/_eCYxN0fawYfd

7. Which of the following relations is /are not intermolecular redox
reaction?

A. Pb02 + HQO — PbO + H202

B.2KClO3 — 2KCl + 30,

C. (NH4)2C’I"207 — N2 -+ C’I”203 —+ 4H20

D. NH4N02 — N2 + ZHQO

Answer: B::C::D

o Watch Video Solution

Practice Sheet Exercise Iv Level li Linked Comprehension Type Questions

1. A sample of FeSO4.TH,0 crystals has been left open to the air and

some of the iron (Il) has been converted to iron (lIll). 4.2 gm of the impure
crystals were dissolved in a total 250cm?® water and dilute sulphuric acid.

25¢m? portion of this solution was titrated with a solution of potenssium


https://dl.doubtnut.com/l/_Is85Qq5SS5PW
https://dl.doubtnut.com/l/_6iV6OGSrH422

bicarbonate. The concentration of dichromate (VI) ions in this solution
was 0.1moldm ~3. The averge volume used was 23.5¢m?® 0.2 mol dm 3.
The average volume used to 23.5¢m?.
How many moles of Fe 2 ions would there havebeen in the 250cm® of
stock solutio?

A.7.05 x 10~ * mol

B.2.35 x 10~ * mol

C.1.41 x 102 mol

D.7.05 x 10 * mol

Answer: C

o Watch Video Solution

2. A sample of FeSO,.TH,0 crystals has been left open to the air and
some of the iron (Il) has been converted to iron (lIll). 4.2 gm of the impure
crystals were dissolved in a total 250cm® water and dilute sulphuric acid.

25¢m? portion of this solution was titrated with a solution of potenssium


https://dl.doubtnut.com/l/_6iV6OGSrH422
https://dl.doubtnut.com/l/_Nt1OVawDyVyd

bicarbonate. The concentration of dichromate (VI) ions in this solution
was 0.1moldm ~3. The averge volume used was 23.5¢m?® 0.2 mol dm 3.
The average volume used to 23.5¢m?.
What mass of Fe'? ions should have been present in the 4.2 gmiof
crystals|?

A.084 gm

B.0.90 m

C.0.77 gm

D.0.62 gm

Answer: A

o Watch Video Solution

3. A sample of FeSO,.TH,0 crystals has been left open to the air and
some of the iron (Il) has been converted to iron (lIll). 4.2 gm of the impure
crystals were dissolved in a total 250cm® water and dilute sulphuric acid.

25¢m? portion of this solution was titrated with a solution of potenssium


https://dl.doubtnut.com/l/_Nt1OVawDyVyd
https://dl.doubtnut.com/l/_EEklYwXPRrri

bicarbonate. The concentration of dichromate (VI) ions in this solution
was 0.1moldm ~3. The averge volume used was 23.5¢m?® 0.2 mol dm 3.
The average volume used to 23.5¢m?.
The percentage purity of the cyrstal is

A.0.69

B.0.72

C.0.88

D.0.94

Answer: D

o Watch Video Solution

4.1.00 gm of a mixture having equal number of moles of carbonates of
two alkali metals required 44.4 ml of 0.5 N HCl| for complete reaction.
Atomic weight of one of the metals is 7.00

The number of moles of each metal carbonate in


https://dl.doubtnut.com/l/_EEklYwXPRrri
https://dl.doubtnut.com/l/_8jsvZlydJnl3

A. 01

B. 0.0111

C. 0.0055

D. 0.00275

Answer: C

o Watch Video Solution

5.1.00 gm of a mixture having equal number of moles of carbonates of
two alkali metals required 44.4 ml of 0.5 N HCl| for complete reaction.
Atomic weight of one of the metals is 7.00
The number of moles of each metal carbonate in

A. 0.222

B.2.22

C.22.22

D. 0.0222


https://dl.doubtnut.com/l/_8jsvZlydJnl3
https://dl.doubtnut.com/l/_iKpXLzReNSuk

Answer: D

° Watch Video Solution

Practice Sheet Exercise Iv Level li Matrix Matching Type Questions

1. Given two mixtures: (I) NaOH and Nay,COs3 and (Il) NaHCO;3 and

NayCOs.

100 ml of mixture | required w and x ml of 1 M HCl is separate titrations
using phenophthalein and methyl orange indicators while 100 ml of
mixture Il required y and z ml of same HCI solutioni in separate titrations

using the same indicators.

Column-1 (Substance} Column-I1 ( Molarity in solution)
AFNa, €O, in mixture [ P 2w - oy x 107
B} Na,CO, in mixture 1 Qiiz - 2y} x 107
C) NalOH in mixture 1 R)yx 107
D) NaHCO, in mixture 11 S) (- wix 107

° Watch Video Solution

Practice Sheet Exercise Iv Level li Integer Type Questions



https://dl.doubtnut.com/l/_iKpXLzReNSuk
https://dl.doubtnut.com/l/_WaihVHFmyBJL

1. The volume of 0.1 M NaOH will be required to neutralise 100 ml of 0.1 ml
H;3; PO, using methyl red indicator to change the colour from pink (acidic

medium) to yellow (basic medium) is 10°. What is x?

° Watch Video Solution

2. The purity of HyO, in a given sample is 85%. The weight of impure
sample of Hy0, which required 10 ml of M /5KMnO, solution in a

titration in acidic medium is 0.1 x. Find x?

° Watch Video Solution

3. 0.4 gm of polybasic acid H,A (Mwt = 96) requires 0.5 gm NaOH for
complete neutralisation. The number of replacable hydorgen atoms are

(all the hydrogens are acidic)

° Watch Video Solution



https://dl.doubtnut.com/l/_w2QQ7csOpjGw
https://dl.doubtnut.com/l/_hGQdQODQcNTc
https://dl.doubtnut.com/l/_YgRmYh6YB4xx
https://dl.doubtnut.com/l/_n33j2fg12uag

4.0.31 gm of an ally Fe+ Cu was dissolved in excen dilute H,S0O, and the

solution was made up to 100 ml . 20 ml of this soltin required 3 m of

N
%K2Cr207 solution for exact oxidation. The % purity (in closest value)

of Fe in wire is

° View Text Solution

5. The oxidation state of mobdenum in [M0204(C'2H4)2H202] s

° Watch Video Solution

6. 4.48 lit of ammonia at STP is neutralised using 100 ml of a solution of

H,50,, the molarity of acid is

° Watch Video Solution

Additional Practice Exercise Level | Main Straight Objective Type Questions



https://dl.doubtnut.com/l/_n33j2fg12uag
https://dl.doubtnut.com/l/_Po5Ctu5BZfgU
https://dl.doubtnut.com/l/_FprwR4pqjsLe
https://dl.doubtnut.com/l/_n5em7y9M8MKH

1. A 2 lit solution contains 0.04 mol of each of [CO(NHj3),50,] Br and
[CO(NH;3),Br]SO,.To 1lit of this solution, excess of AgNOj is added.
To the remaining solution of excen of BaCl, is added. The amounts of
precipitated salts, respectively, are

A. 0.01 mol & 0.01 mol

B. 0.01 mol & 0.02 mol

C. 0.02 mol & 0.01 mol

D. 0.02 mol & 0.02 mol

Answer: D

o Watch Video Solution

2. The value of n in the molecular formula Ben Al,SigO;5 is

A2

B.3


https://dl.doubtnut.com/l/_n5em7y9M8MKH
https://dl.doubtnut.com/l/_X3jX7hdvukyT

C.4

D.5

Answer: B

° Watch Video Solution

3. Dissolving 120 gm of urea in 100 gm of water gave a solution of density
1.15gmlit ~!. The molarity of the solution is

A 178 M

B.250 M

C.205M

D.222 M

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_X3jX7hdvukyT
https://dl.doubtnut.com/l/_pIui9a24AYbZ
https://dl.doubtnut.com/l/_0SI33iEoRK5P

4.To neutralize compltely 20 ml of 0.1 M aqueous solution of phosphorus

acid, the volume of 0.1 molal aqueous KOH solution required is

A.10 ml

B. 60 ml

C.40 ml

D.20 ml

Answer: C

o Watch Video Solution

5. If we consider that 1/6 in place of 1/12 mass of carbon is taken to be the

relation atomic mass unit, the mass of one mole of substance will

A. Decrease twice

B. Increase two fold

C. remain unchanged


https://dl.doubtnut.com/l/_0SI33iEoRK5P
https://dl.doubtnut.com/l/_xxI0Z0WC4bl8

D. be a function of the molecular men of the substance

Answer: A

° Watch Video Solution

6. Density of a 2.05 M solution of acetic acid in waer is 1.02 gas ml ™~ *. The
molarity of the solution si

A.1.14molkg ~*

B. 3.28molkg ~ !

C.2.28molkg '

D. 0.44molkg ~*

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xxI0Z0WC4bl8
https://dl.doubtnut.com/l/_jW7uAyH1gPEU

7.HgO is analysed by reaction with iodide and them titrating with an acid.
The equivalent mass of HgO is
H,O + HgO + 4~ — Hgl, > + 20H ~

A. molarity of NayCO3 = 20v,

B. M/2

C. M/4

D.M/3

Answer: B

o Watch Video Solution

8. Which question represents charge because equation for the solution of

H,S in water?


https://dl.doubtnut.com/l/_peieHxP5Suxt
https://dl.doubtnut.com/l/_DOy1u3CNuhSW

Answer: A

° Watch Video Solution

9. The ionic strength of solution containing 0.5 M MgSO,0.1M AICl;
and 02(NH4)2SO4 is

A. 0.75

B.1.85

C.3.2

D.15

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DOy1u3CNuhSW
https://dl.doubtnut.com/l/_MmAebxOil4ke
https://dl.doubtnut.com/l/_JyckftTII1hS

10. The percentage of CH50 in CuSO45H50 is

A. zero

B. about 28.7

C.about 50

D. about 40

Answer: B

o Watch Video Solution

11. 112% labelled oleum is diluted with sufficient water. The solution on

mixing with 5.3 X 102gmNa;CO3 liberates CO,. The volume of Co,

given out at 1atm at 273 K will be

A. 112 litres

B.1.23 lit

C.2.21it


https://dl.doubtnut.com/l/_JyckftTII1hS
https://dl.doubtnut.com/l/_y6KEkrb8Vhj0

D.37.75 lit

Answer: D

° Watch Video Solution

12. What is the specific volumeof costor or its density is 956kgm ~3?

A.1.05 x 10 3kgm 3
B.1.05 x 10 3m3kg 3
C.1.25 x 10 3kg !

D.9.56 x 10 3kgm 3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_y6KEkrb8Vhj0
https://dl.doubtnut.com/l/_gudWeOG26OBx

13. The number of significant figures in each of these given numbers

respectively are

(i) 506.20 (ii) 0.003402

A 4,5

B.4,4

C.54

D. 5,6

Answer: C

o Watch Video Solution

14. Number of atoms of iron present in 100 gm Fe;O3 having 20% purity

is

A 0.2N,

B.0.25N 4


https://dl.doubtnut.com/l/_w61LbvXS53dT
https://dl.doubtnut.com/l/_9R88Fu6OcqqS

C.0.5Ny4

D.0.3Ny4

Answer: B

o Watch Video Solution

15. Which mixture is lighter than humid air?

ANy + Oy + SO,

B.N; + Oy + CO,

C.Ny + Oy + CyHg

D.N; + Oy + HC

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9R88Fu6OcqqS
https://dl.doubtnut.com/l/_ZYm3ap6pxuH6

Additional Practice Exercise Level li Lecture Sheet Advanced Straight

Objective Type Questions

1. A solid element has specific heat 1Igm ~ 'k~ . If the equivalent weight
of the element is 9. Identify the valency and atomic weight of element.

A 2,6

B. 2,37

C.9,28

D. 5,27

Answer: B

° Watch Video Solution

2. 12.8 gm of an organilc compound containing C; H;0 and undergoes
combustion to produce 25.56 gm CO, and 10.46 gm of HyO. What is the

empirical formula of compound.


https://dl.doubtnut.com/l/_TOxolvXqhfWz
https://dl.doubtnut.com/l/_vHMMBTmi95d9

A.CH,0,

B.CH,O

c.CLH, 0O

D.CHO

Answer: C

o Watch Video Solution

3.Inniting MnO, in air converts it quantitctively to Mn3O4. A sample of
pyrolusite is of the following composition. MnO, = 80 % and othe inert
constituents =15% and rest bearing H,O. The sample is ignited to
constant weight. What is the % of Mn is the igrited sample.

A. 0.594

B. 0.55

C.0.568

D. 0.586


https://dl.doubtnut.com/l/_vHMMBTmi95d9
https://dl.doubtnut.com/l/_SYOlE0Bl46lB

Answer: A

° Watch Video Solution

4. NaoH and Nay,COs are dissolved in 200 ml aqeous solution. In the
presence of phenolpthaleim indicator, 17.5 ml of 01 HCl are used to
titrated this solution. Now methyl orange is added in the same solution
titrated and requires 2.5 ml of the same HCI. Calculate the normality of

NaOH & NaCO;.

1.5

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_SYOlE0Bl46lB
https://dl.doubtnut.com/l/_7C9uZ72Y3Wd0
https://dl.doubtnut.com/l/_tE7jN4oU7XLy

5.20 gm of sample Ba(OH), is dissolved in 10 ml of 0.5 N HCl solution,
The excess of HCl was titrated with 0.2 NaOH. The volume of NaOh used
was 10 mol. Calculate the % of Ba(OH), in the sample.

A.0.015

B.2.6

C.0.034

D. 0.013

Answer: D

° Watch Video Solution

6. 1.9 8m of a sample of HyO, solution containing y% H;0, be weight
requires y ml of KMnQO, solution for complete titration under acidic

condition. Find the molarity of KMnQO, solution

A.02M


https://dl.doubtnut.com/l/_tE7jN4oU7XLy
https://dl.doubtnut.com/l/_azZndD6ZnWIs

B.OITM

C.0.01MTM

D.0.25M

Answer: B

o View Text Solution

7. A sample of pynolusite (MnO;) weights 0.5 gm. To this solutioin 0.594
gm As;O3 and a dilute acid are added. After the reaction has stopped
Ast3is AS,0j is titrated with 45 mlof M/50 K Mn, solution. Calculate
the percentage of MnQO, in pyrolusite.

A. 0.6225

B. 0.68

C.0.673

D. 0.666


https://dl.doubtnut.com/l/_azZndD6ZnWIs
https://dl.doubtnut.com/l/_fqKOXsQmYokB

Answer: A

° Watch Video Solution

8. A sample of HyO5 is x % by mass. If x ml of KMnQO, are required to
oxidize 1 gm of this Hy,O, sample, calculate the normality of KMnO,
solution.

A.046 N

B.O.5N

C.06N

D.0.65N

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fqKOXsQmYokB
https://dl.doubtnut.com/l/_HidZcmzwzcmF

9. 50 ml solution of H,O, was treated with excess Kl (s) and the solution
was acidified with acetic acid. The liberated I, required 40 ml of
0.5M NayS505 solution for the end point using starch is indicator. Find
the molairty and volume strength of the H,O, solution.

A 112 gm lit

B. 2.24 gm/lit

C. 5.6 gm/lit

D. None of these

Answer: B

o Watch Video Solution

10. The density of a 3.6 M H,S0, solution that is 29% H,S0O, by mass

will be

A.0.212gm ML 2


https://dl.doubtnut.com/l/_vIqt8MsBVRwe
https://dl.doubtnut.com/l/_Qchumt9TFRnp

B.0.122gmM1~*
C.2.12gmM1~?

D.1.22gm M1 1

Answer: D

° Watch Video Solution

Additional Practice Exercise Level li Lecture Sheet Advanced More Than One

Correct Answer Type Questions

1. Equal volumes of 01 M KCl and 0.1 M FeCl3 are mixed with no change
in volume, which is/are correct?

A [Fe*?] = 0.05M

B. [Kﬂ = 0.06M

c[Cl7] =02M

D.[C17] > [K*]


https://dl.doubtnut.com/l/_Qchumt9TFRnp
https://dl.doubtnut.com/l/_YUATCo1XhYOD

Answer: A::B::C::D

o Watch Video Solution

2. When 4 gm of Mg burnt with O, form oxide and on dilution of metal
oxide form metal hydroxide which statement is/are correct for above

series of reaction?
A. Gram quvalent of metal, metal oxide and metal hydroxide are equal
B. Weight of metal oxide is 6.66 gm
C. Weight of metal hydroxide is 9.66 gm
14

D. Normaililty of solutioni in 1 litre volume is o)

Answer: A::B::C::D

o Watch Video Solution

3. Choose the correct match


https://dl.doubtnut.com/l/_YUATCo1XhYOD
https://dl.doubtnut.com/l/_cZtwPuK6Ny2o
https://dl.doubtnut.com/l/_6ZOXCR5zAxYM

A.18ml H,O at 4° C contains 6.023 x 10** electrons

B. 11200 mklof CO, at STP contatins 6.023 x 210 oxygen atom.

C. 5600 ml of CH, at 273 K and 2 atm contains 12.04 x 10?® hydrogen
atom

D. 5600 ml of C'H, at STP contains 1.505 x 10?* methane molecules.

Answer: A::B::C::D

o Watch Video Solution

4. PF} reacts with XeF to give PFy

2PF; + XeF, — 2PF; + Xe
(9) (s) (o) (9)

If 100.0gm of PF3 and 50.0 gm XeF} react, then which of the following
statement is true?

A. XeFy is the limiting reagent

B. PF3 is the limiting reagent

C. 1127 mol of PF5 are produced


https://dl.doubtnut.com/l/_6ZOXCR5zAxYM
https://dl.doubtnut.com/l/_7qgV8CFv0OKq

D. 0.382 mol of PF5 are produced

Answer: A::D

° Watch Video Solution

5. The reaction 2C10° — 2C1° + 2C1~ is an example of
(aq) (aq) (aq)

A. oxiclatio reaction
B. Reduction reaction
C. Disproportionation reaction

D. Decomposition reaction

Answer: A::B::C::D

o Watch Video Solution

Additional Practice Exercise Level li Lecture Sheet Advanced Linked

Comprehension Type Questions



https://dl.doubtnut.com/l/_7qgV8CFv0OKq
https://dl.doubtnut.com/l/_PgDCksJiqNit

1. lodine titration can be iodemotric or iodimetric depending on using
iodine directly or indirectly is an oxidising agent in the redox titration.

a. lodimetric titration in which a standard iodine solution is used as an
oxidant and iodine is directly or indirectly titrated against a reducing
agent. For example.

2CuS0O, + 4KJ — Cuyly + 2K5504 + I,

b. lodimetric procedures are used for the datermination of strength of
reducing agent such as thiosulphates, sulphites, arsenties adn stanous
chloride etc. by titrating them against standard solution of iodine in a
burette.

2NayS503 — 2Nal 4+ NayS40¢

Starch is used as indicator near the end point whilch form blue colour
complex with I;”. The blue colour disappeams when there is not more of
free I, .

The volume of KI solutioin used for CuSO, will be

A.M/8

B.M /4


https://dl.doubtnut.com/l/_7UcePJVLvTqn

C.M/2

D.M

Answer: D

o Watch Video Solution

2. lodine titration can be iodemotric or iodimetric depending on using
iodine directly or indirectly is an oxidising agent in the redox titration.

a. lodimetric titration in which a standard iodine solution is used as an
oxidant and iodine is directly or indirectly titrated against a reducing
agent. For example.

2CuS0O, + 4KJ — Cugly + 2K5804 + I

b. lodimetric procedures are used for the datermination of strength of
reducing agent such as thiosulphates, sulphites, arsenties adn stanous
chloride etc. by titrating them against standard solution of iodine in a
burette.

2NayS03 — 2Nal + NayS40¢

Starch is used as indicator near the end point whilch form blue colour


https://dl.doubtnut.com/l/_7UcePJVLvTqn
https://dl.doubtnut.com/l/_OJKPUMDkAxAC

complex with I;”. The blue colour disappeams when there is not more of
free I, .
When 319.0 gm of CuSOy, in a solution is related with excess of 0.5 M KI
solution, then librated iodine required 200 ml of 1.0MNa,S>03 for
complete relation. The percentage purity of CuSOy in the sample is

A. 01

B.0.2

C.0.05

D. None of these

Answer: C

o Watch Video Solution

3. lodine titration can be iodemotric or iodimetric depending on using
iodine directly or indirectly is an oxidising agent in the redox titration.
a. lodimetric titration in which a standard iodine solution is used as an

oxidant and iodine is directly or indirectly titrated against a reducing


https://dl.doubtnut.com/l/_OJKPUMDkAxAC
https://dl.doubtnut.com/l/_2Zjzo1mqYxaF

agent. For example.

2CuSO, + 4KJ — Cusly + 2K55804 + I,

b. lodimetric procedures are used for the datermination of strength of
reducing agent such as thiosulphates, sulphites, arsenties adn stanous
chloride etc. by titrating them against standard solution of iodine in a
burette.

2NayS503 — 2Nal 4+ NayS40¢

Starch is used as indicator near the end point whilch form blue colour
complex with I;”. The blue colour disappeams when there is not more of
free I, .

The volume of Kl solutioin used for CuSO, will be

A. 100 ml
B.40 ml
C.400 ml

D. 200 ml

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2Zjzo1mqYxaF

4. Bleaching powder and bleach solution are produced on a large scale
and used in several household products. The affectiveness of bleach
solution is often measured by iodometry.

25 ml of household bleach solution was mixed with 30 ml of 0.5 M Kl and
10 ml of 4 N acetic acid. In the titratio of the liberated iodine, 48 mlof 0.25
N NaySO; wasused to reach the end point. The moalirty of the

household bleach solution is

A.048 N
B.0.96 M
C.0.24 M

D.0.024 M

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_2Zjzo1mqYxaF
https://dl.doubtnut.com/l/_quN0DcKZzCtr

5. Bleaching powder and bleach solution are produced on a large scale
and used in several household products. The affectiveness of bleach
solution is often measured by iodometry.
Bleaching powder contains a slat of an oxacid as one of its components.
The anlydride of that oxoacid is

A.Cl,O

B.Cl,0r

C.ClO,

D. C1,04

Answer: A

° Watch Video Solution

Additional Practice Exercise Level li Lecture Sheet Advanced Matrix Matching

Type Questions



https://dl.doubtnut.com/l/_zeToWN8I86CP

1. Match the concentration terms with the factors affecting the

concentration.

Cerlumn-1 Column- 11
Ay Maoalrity (M) P Temperaturc
B} Molality (m) Q) Pressure
) Mole fracuon (X) R) Dilution
[ Mormality 51 Volume

° Watch Video Solution

2. Experiment determination of molar mass of compounds may be made

by the following methods. Match them property.

Column-1 Column- 11
A) Gases P) Vector meyer's method
B) Volatice solids Q) Hofmann's method
C) Non-volatice solids R) Duma's method
D) Solids of low molar mass S) Ebullioscopy or cryoscopy
E) Solids of high molar mass such as polymers T) Osmotic pressure
U) Raoult's law

o View Text Solution

Additional Practice Exercise Level li Lecture Sheet Advanced Integertype

Questions



https://dl.doubtnut.com/l/_6dUCgiIpvsA0
https://dl.doubtnut.com/l/_emLZAYZ6ALW0

1. The volume (in ml) of 010 M AgNO; required for complete
precipitation of chlorine ions present in 30 ml of 0.01 M solution of

[Cr(H,0),Cl|Cl, as silver chlorine is close to

° Watch Video Solution

2. A sample of crystalline Ba(OH),. XH,O weight 1578 gm was
dissolved in water. The solution required 40 ml of 0.25NHNOQO;3 for
complete relation. Determine the number of molecular of water of

crystallisat in base.

° Watch Video Solution

3. Compound Sy N; decompose completely into Sx(4) and Ny (). If all
measurements are made at same P & T each volume of S§;N; gives 4.0

volume of gaseous product. The value of X is

° Watch Video Solution



https://dl.doubtnut.com/l/_jLlamJntqPTn
https://dl.doubtnut.com/l/_Gaglg8k3MJHc
https://dl.doubtnut.com/l/_cyYRJW5m0OVj

4. 500 ml of aM and 500 ml of bM solution of a solute are mixed and
diluted to 2 litre to prepare a solution of 1.5 M. If a and b are in the ratio 2

: 1, then the value of a is.

° Watch Video Solution

5. A student performs a titration with different buretts and fins titre value
of 2522 ml, 2.25 ml, 25.0 ml. The number of significant figures in the

average titre value i.

° Watch Video Solution

Practice Sheet Advanced Straight Objective Type Question

1. What weight of slaked lime will be required to decompose completely 4

grams ammonium chloride

A.277¢g


https://dl.doubtnut.com/l/_ISO0v0vmI7xK
https://dl.doubtnut.com/l/_AHeeFu3qLqu3
https://dl.doubtnut.com/l/_HPB1IYiayq40

B.35g

C.55g

D.544 g

Answer: B

o Watch Video Solution

2. A certain weight of sodium lodine and sodium chloride mixture when
treated with sulphuric acid was found to give the same weight (as that of
mixture) of sodium sulphate. The percentage composition of NaCl is

A.18.86

B.52.23

C.35.57

D.71.14

Answer: D

[ - |


https://dl.doubtnut.com/l/_HPB1IYiayq40
https://dl.doubtnut.com/l/_MG2KfuCb1ZG4

| @J Watch Video Solution J

3. How may gram of 83.4% pure sodium sulphate can be produced form

250 g of 95% pure Nacl.

A.2882¢g

B.2375g

C.3454 g

D.1872 g

Answer: C

° Watch Video Solution

4.To a 25 ml Hy0O, solution, excess of acidified solution of potassium
iodide was added. The iodine liberated required 20 ml of 0.3 N sodium

thiosulphate solution. The volume strength of H,O, solution is


https://dl.doubtnut.com/l/_MG2KfuCb1ZG4
https://dl.doubtnut.com/l/_NAjQrao0rvpF
https://dl.doubtnut.com/l/_bbwceWR7bpuj

A. 0.672

B.1.344

C.2.688

D. 0.896

Answer: B

o Watch Video Solution

5. 20 CC of hydro carbon were exploded with excess of oxygen. After
explosion and cooling a contracting of was noted on addition of KOH
another contraction of 40 CC was noted. The molecular formula of
hydrocarbon is

A.CyHg

B.CyH,

C.CyH,

D.CH,


https://dl.doubtnut.com/l/_bbwceWR7bpuj
https://dl.doubtnut.com/l/_rHrQY2jmThLV

Answer: C

° View Text Solution

6. 10 ml of a mixture of carbon monoxide, march gas and hydrogen
exploded with excess of oxygen gave a contraction of 6.5 CC/. There was
further contraction of 7 CC when the residual gas was treated with
canstic potash. The volume of march gas present in original mixture as
A.5CC
B. 2CC

C.3CC

D.4CC

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_rHrQY2jmThLV
https://dl.doubtnut.com/l/_OoLdg8UUDG54

7.0n gram of the carbonate of a metal was dissolve din 35 CC 1IN HCl.The
resulting liquid required 50 CC 0 caustic soda solution to neutralise it
completely. The equivalent weight of metal carbonate is

A. 100

B. 25

C.53

D. 50

Answer: D

o Watch Video Solution

N
8. A small amount of CaCO3 completely neutralises 525 ml of 0 HCI
and no acid is left at the end after converting all calcium chloride to

1
CaSO4. How much plaster paris (CaSO4§H20) can be obtained

A.1916 g


https://dl.doubtnut.com/l/_zC4nszxlzlh7
https://dl.doubtnut.com/l/_yGvSOE631VWw

B.5.827 g

C.753g

D.381g

Answer: D

° Watch Video Solution

9. An element A forms a chloride which contains 29.34% by weight of

chloride and is isomorphous with KCI. The atomic weight of A is

A.8549

B. 40

C.23

D.137.5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yGvSOE631VWw
https://dl.doubtnut.com/l/_SPhQ2gVZsOLV

10. Air contains 21% oxygen by weight. What weight of air is required t

burn 200 g of coal which contains only 80% combustible material

A. 2031.79

B.1023.5g

C.426.6g

D. 160g

Answer: A

° Watch Video Solution

Practice Sheet Advanced More Than One Correct Answer Type Question

1. Pevoxy linkage is present in

A C’I"O5


https://dl.doubtnut.com/l/_SPhQ2gVZsOLV
https://dl.doubtnut.com/l/_vvaKiFwjD7rd
https://dl.doubtnut.com/l/_ZRDuVA4WbhCN

B. Caros' acid

C. Marshall's acid

D. Pernetric acid

Answer: A::B::C::D

° Watch Video Solution

2. Pick out correct statements

A. One gram equivalent of xoygen at STP occupies 5.6 litres

B. The molarity of 10 volume H,0, is 0.89 M

C. Phenolphthalien indulator indicates only half neutralisation of

NOQCOg

D. Empirical formula of benczenr in CH

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZRDuVA4WbhCN
https://dl.doubtnut.com/l/_PGGj6c3q2W1B

3. Pick out correct statements

A. Equivalent weight of an element will change with valency

B.In 109% H5SO, labeled oleu in the percent of free SO5 is 60%

C. Metathesis reaction are redo reaction

D. Product of volume in ml and normality of solution gives number of

milliequivalent of solute

Answer: A::D

o Watch Video Solution

4. Pick out incorrect statements

A. The volume of 0.1M FeC50, solution required to reduce 200 ml of

0.6 M K5,Cr507 in acidic medium is 2400 ml


https://dl.doubtnut.com/l/_PGGj6c3q2W1B
https://dl.doubtnut.com/l/_jbYwClUcdh3n
https://dl.doubtnut.com/l/_mgs0x79ZGZji

B. The volume of 0.1MCa(OH), required to neutralise 0.2M H3POj
solution of volume 0.25dm? is 500 ml
C. Equivalent weight of sulphate ion is 49

D. Molality of enfluenced by change in temperature

Answer: C::D

o Watch Video Solution

5.The correct statements are

A. The isotopies of chlorine with mass number 35 and 37 exist in ratio
3:21if its average atomic mass is 35.5

B. The mass of one amu is approximately 1.6 X 10~ g

C. The number of molecules in 1 ml of gas at STP is called Loschmidt

number


https://dl.doubtnut.com/l/_mgs0x79ZGZji
https://dl.doubtnut.com/l/_oJO7elD1zoRr

D. If 6.023 x 10*! molecules of a solute are present in 100 ml solution

molarity of solution is 0.1 M

Answer: A::B::C::D

° Watch Video Solution

Practice Sheet Advanced Linked Comprehension Type Question

1. Two formulal to calculate number of milli equivalkents (mIQ)

Numbr of miliequivalents — ~81¢ 1600
umpr or miliegquivalents =
d GEW

Numbr of milliequivalents= volume in ml X Normality of solution

N
0.09 grams of dibasic acid neutralise 40 ml of 20 NaOH solution.
Molecular weight of acid is
A. 90
B. 45

C.180


https://dl.doubtnut.com/l/_oJO7elD1zoRr
https://dl.doubtnut.com/l/_AheM7e2B9RRG

D. 60

Answer: A

o Watch Video Solution

2. Two formulal to calculate number of milli equivalents (mlQ)

L weight
Numbr of miliequivalents = x 1000
GEW

Numbr of milliequivalents= volume in ml X Normality of solution
0.25 grams of pure CaCOj3 neutralised 25 ml dilue HCl normality of HCI
solution is

A.OIN

B.O5N

C.025N

D.0.2 N

Answer: D

| ° Wiakt A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_AheM7e2B9RRG
https://dl.doubtnut.com/l/_YfTuTjA0DbPi

¢ AAK-LASI R IR AL AV A®LiYILALYIN]

Practice Sheet Advanced Matrix Matching Type Question

1. Match
Calumn-1
A)22.4 volume 1,0,
B) 32 g oxvgen
Crii2 L Co, m TP
)| gram equivalent hydrogen at STP

the

following columns

Column-11

P12 hires
Q) 9.034 x 107 atoms
R) 2 mole L
51 9.64 x 10 electron

o Watch Video Solution

Practice Sheet Advanced Integer Type Question

1. Ammonia is oxised by oxygen to give nitric oxide and water. The weight

of water produced per gram of nitric oxide is 0.1 X zg. What is value of d.

° Watch Video Solution



https://dl.doubtnut.com/l/_YfTuTjA0DbPi
https://dl.doubtnut.com/l/_hc1GpbdnrXNx
https://dl.doubtnut.com/l/_p2Oirbh5ed4m

2. One gram limestone is heated and quickline so formed is dissolved in

one litre of water. The normality of solution is 0.01 x z.What is value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_rx56QW1m2uBo

